NUCOR TABLE OF CONTENTS

BUILDINGS GROUP

FRAMED OPENING
CG0016 - WALKDOOR FRAMED OPENING DETAIL
CG0017 - TYPICAL JAMB_JAMB EXTENSION DETAIL
CG0018 - JAMB TO ZEE GIRT WITH INTERMEDIATE GIRT
CG0019 - TYPICAL JAMB DETAIL
CG0025 - HEADER WRAP DETAIL
CG0026 - SILL WRAP DETAIL
CG0027 - COLUMN WRAP DETAIL
CG0030 - JAMB TO FINISHED FLOOR CONNECTION DETAIL
CG0039 - JAMB TO STEM WALL CONNECTION DETAIL
CG0040 - JAMB TO FINISH FLOOR CONNECTION DETAIL
CG0045 - HOT-ROLLED JAMB TO STEM WALL DETAIL
CG0046 - HOT-ROLLED JAMB BASE CONNECTION DETAIL
CG0048 - JAMB TO FINISHED FLOOR CONNECTION DETAIL
CG0050 - HEADER_SILL TO JAMB CONNECTION DETAIL
CG0051 - HEADER_SILL TO JAMB CONNECTION DETAIL
CG0056 - DRUM COVER_LINER SUPPORT TO JAMB DETAIL
CG0057 - DRUM COVER_LINER SUPPORT TO JAMB EXT. DETAIL
CG0058 - JAMB EXTENSION TO ZEE GIRT DETAIL
CG0059 - DOOR JAMB TO GIRT CONNECTION DETAIL
CG0060 - GIRT TO JAMB CONNECTION DETAIL
CG0062 - JAMB TO HEADER WITH INTERMEDIATE GIRTS
CG0064 - JAMB WITH EXTENSION DETAIL
CG0065 - JAMB WITH EXTENSION DETAIL
CG0072 - JAMB EXTENSION TO CEE GIRT DETAIL
CG0073 - JAMB SUPPORT FOR SPRING(Vertical Lift)
CG0074 - JAMB SUPPORT FOR SPRING(Overhead)
CG0082 - JAMB TO EAVE STRUT WITH CHANNEL DETAIL
CG0085 - JAMB TO EAVE STRUT DETAIL
CG0090 - JAMB EXT. TO EAVE STRUT DETAIL
CG0100 - JAMB TO LOW EAVE PURLIN DETAIL
CG0105 - JAMB TO LOW EAVE PURLIN DETAIL
CG0110 - JAMB EXTENSION TO LOW EAVE PURLIN DETAIL
CG0120 - JAMB TO PURLIN CONNECTION DETAIL
CG0125 - JAMB TO JOIST CONNECTION DETAIL
CG0130 - JAMB TO RAFTER CONNECTION DETAIL
CG0205 - JAMB TO HIGH EAVE GIRT DETAIL




CG0240 - SW OR EW GIRT DETAIL
CG0241 - SW OR EW GIRT DETAIL
CG0260 - SW OR EW GIRT DETAIL
CGO0261 - SW OR EW GIRT DETAIL
CG0281 - SW OR EW GIRT DETAIL
CG0285 - SW OR EW GIRT DETAIL
CG0291 - SW OR EW GIRT DETAIL
CGO0306 - SW OR EW GIRT DETAIL
CG0380 - GIRT TO EXISTING DETAIL
CG0391 - JAMB TO PURLIN TRANSITION MEMBER DETAIL
CG0395 - JAMB TO EAVE STRUT DETAIL

FRAMED OPENING (WELDED)
CG1017 - TYPICAL JAMB_JAMB EXT DETAIL (WELDED)
CG1019 - TYPICAL JAMB DETAIL (WELDED)
CG1030 - JAMB TO FINISHED FLOOR CONNECTION DETAIL (WELDED)
CG1039 - JAMB TO STEM WALL CONNECTION DETAIL (WELDED)
CG1046 - HOT-ROLLED JAMB BASE CONNECTION DETAIL
CG1050 - HEADER TO JAMB CONNECTION DETAIL (WELDED)
CG1051 - HEADER_SILL TO JAMB CONNECTION DETAIL (WELDED)
CG1056 - DRUM COVER_LINER SUPPORT TO JAMB DETAIL (WELDED)
CG1057 - DRUM COVER_LINER SUPPORT TO JAMB EXT. DETAIL (WELDED)
CG1058 - JAMB EXTENSION TO ZEE GIRT DETAIL (WELDED)
CG1059 - DOOR JAMB TO GIRT CONNECTION DETAIL (WELDED)
CG1060 - GIRT TO JAMB CONNECTION DETAIL (WELDED)
CG1062 - DOOR JAMB TO HEADER CONNECTION DETAIL (WELDED)
CG1064 - JAMB WITH EXTENSION DETAIL (WELDED)
CG1065 - JAMB WITH EXTENSION DETAIL (WELDED)
CG1073 - JAMB SUPPORT FOR SPRING(Vertical Lift) (WELDED)
CG1074 - JAMB SUPPORT FOR SPRING(Overhead) (WELDED)
CG1082 - JAMB TO EAVE STRUT WITH CHANNEL DETAIL (WELDED)
CG1085 - JAMB_JAMB EXT TO EAVE STRUT DETAIL (WELDED)
CG1090 - JAMB TO HIGH EAVE STRUT DETAIL
CG1100 - JAMB TO LOW EAVE PURLIN DETAIL (WELDED)
CG1105 - JAMB_JAMB EXT TO LOW EAVE PURLIN DETAIL (WELDED)
CG1205 - JAMB TO HIGH EAVE GIRT DETAIL (WELDED)
CG1240 - SW OR EW GIRT DETAIL (WELDED)
CG1241 - SW OR EW GIRT DETAIL (WELDED)
CG1260 - SW OR EW GIRT DETAIL (WELDED)
CG1261 - SW OR EW GIRT DETAIL (WELDED)



CG1281 - SW OR EW GIRT DETAIL (WELDED)
CG1285 - SW OR EW GIRT DETAIL (WELDED)
CG1306 - SW OR EW GIRT DETAIL (WELDED)
CG1390 - JAMB OR JAMB EXT TO HIGH EAVE STRUT (WELDED)



NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0016 - WALKDOOR FRAMED OPENING DETAIL

MOUNT THE SUB-FRAME HEADER WRAP
FLUSH WITH THE OUTSIDE (BY METAL
FACE OF THE JAMB BUILDING
SUPPLIER)
JAVB
GIRT
7 BY METAL BUILDING
(SUPPLIER) (BY METAL
BUILDING
SUPPLIER)
WALKDOOR AND
SUB-FRAME BY DN
OTHERS (SHOWN o
CUT-AWAY FOR S
CLARITY) g IS
STANDARD WALKDOOR TRIMS ARE DESIGNED TO
WORK WITH THE WALKDOOR'S SUBFRAME FLUSH
WITH THE OUTSIDE FACE OF THE FRAMED
OPENING
SEE THE WALL SHEETING ELEVATIONS AND
THE DETAILS FOR TRIM CONDITIONS AND
PART NUMBERS
SEE THE WALL STRUCTURAL
ELEVATIONS AND DETAILS FOR | [
JAMB AND GIRT CONNECTIONS ~
(WALKDOOR PROVIDED BY OTHERS) ( CG OO 1 6 )
SEE THE WALL ELEVATIONS FOR JAMB AND GIRT PART NUMBERS
Detailer Notes:
1) N/A
lssued  : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H) : 1 x 1

Issued By: CAH


dtls/cg0016.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0017 - TYPICAL JAMB/JAMB EXTENSION DETAIL

> P
I

I

I

H (3) H1020 FASTENERS

[1
1“ L |I .

Hﬁ' T (2) 1/2" X 1 1/4" A307
\ BUTTON HEAD BOLT H0510/
NUT H0400

— JAMB CLIP MK. JCTO02

JAMB/JAMB EXTENSION

OPENING

TYPICAL JAMB/JAMB EXTENSION DETAIL
T e wises securenents (_C G 0017 )

Detailer Notes:
1) USE AT WALKDOORS/WINDOWS/LOUVERS

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0017.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP

WALL SECONDARY

CG0018 - JAMB TO ZEE GIRT WITH INTERMEDIATE GIRT

ERECTOR NOTE:
-PRE-DRILL HOLES AT NESTED ZEE GIRTS & DOUBLE CEE GIRTS IF REQUIRED.
-IF THE T-CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT BOLTS, THE
NESTED GIRT BOLTS CAN BE REMOVED.

RIGHT HAND DETAIL SHOWN,
6) H1020 FASTENERS

LEFT HAND OPPOSITE
ZEE GIRT
7'-6" MAX.
(AF.F) R =
41/4"

| — CLIP MK. JCTO1

; | s / DOOR JAMB

CLIP MK. FOC94 8" /9 1/2" CEE - (FLANGE WIDTH =2.5"/3.0")
3" CLIP MK. FOC95 12" "S" - (FLANGE WIDTH = 3.63")

CLIP MK. FOC96 8" /9 1/2""S" - (FLANGE WIDTH = 3.78" / 3.63")
. -

/ INTERMEDIATE GIRT

____________

OPENING \
— ™ (2) 112" X 1 114" A307

L BOLTS (H0500) & NUTS (H0400)

JAMB TO ZEE GIRT w/INTERMEDIATE GIRT
NOTE: USE (6) 1/2'X 1 1/4" A307 BUTTON HEAD BOLTS H0510 / NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS ( CG0018 )

Detailer Notes:
1) N/A

Revised : 03.06.23 (MR2023.03) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Revised By : WME


dtls/cg0018.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0019 - TYPICAL JAMB DETAIL

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE

. \_
CEE HEADER

—— (3) H1020 FASTENERS /
(3) H1070 FASTENERS AT
HOT-ROLL

(2)1/2" X1 1/4"
A307 BUTTON HEAD BOLT
HO510/NUT H0400

JAMB CLIP
MK. JCT13

OPENING

JAMB/JAMB EXTENSION

TYPICAL JAMB/JAMB EXTENSION DETAIL

COLD-FORMED JAMB AT CEE GIRT WITHOUT INTERMEDIATE GIRT REFERENCE ( CG OO 1 9 )
STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0019.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0025 - HEADER WRAP DETAIL

N

%

JAMB

H1020 FASTENER
(12"0.C.)

GIRT

STEEL LINE

N - HEADER WRAP
MK.HW

4" TYP., -
4 3/4" AT 12" GIRTS || U
(SEE PLAN) N —

1 JAMB

\—H1020 FASTENER (12" 0.C.)
AT IMP WALL, USE H1220 FASTENER

SECTION "A"
HEADER WRAP DETAIL
Detailer Notes:
1) N/A
Revised : 09.12.24 (MR2024.09) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Revised By: BSS


dtls/cg0025.dwg

BOLTED FRAMED OPENING DETAILS

NUUCOR
WALL SECONDARY

BUILDINGS GROUP

CG0026 - SILL WRAP DETAIL

A

~9 7‘@62 AN

JAMB G
//1/6 S
[}

H1020 FASTENER
(12" 0.C))
[ ]
4" TYP.
SEE PLAN i’
( l ) , -
u__.F
\ —SILL WRAP
N MK. HW
|
STEEL LINE | GIRT
*
H1020 FASTENER (12" O.C.)

AT IMP WALL, USE H1220 FASTENER

SECTION "A"

SILL WRAP DETAIL
((CG0026 )

Detailer Notes:
1) N/A

Detail Size (W xH): 1x1

Revised : 01.09.24 (MR2024.01) CERTIFIED ERECTION DETAILS
Revised By: SDF


dtls/cg0026.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0027 - COLUMN WRAP DETAIL

COLUMN

HEADER ATTACHMENT TO
COLUMN WEB NOT SHOWN
FOR CLARITY.

//// HEADER
®
™1 ~_ ,ﬁ COLUMN WRAP MK.
~
~. /
COLUMN /
CLEAR

H1070 FASTENER OPENING

AT 12" O.C. —\

SECTION "A"
°
5

A\
N

STEEL LINE

/‘/\
/ SECTION "A"

\/ -~
€
E?/{/\&?/

COLUMN WRAP DETAIL

PREDRILL COLUMN FLANGES FOR H1070'S AS REQUIRED C C G 002 7 )

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0027.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0030 - JAMB TO FINISHED FLOOR CONNECTION DETAIL

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE

- CLIP
SECTION "A" MK. HCJO1 AT 8"
MK. HCJO1 AT 9 1/2"
MK. HCJ02 AT 12"

114"
——— (ATTACHMENT TO
SLAB BY OTHERS)
| 1§
/ 2
L
. '4’_:".» K/‘f?§ ®—
-\
CLEAR OPENING | %
=
=W a)
JAMB _Mt- l%., &) o
(@]
A i}
STEEL LINE |

IIAII

JAMB TO FINISHED FLOOR CONNECTION
NOTE: USE (2) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS HO510/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS ( CG0030 )

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0030.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0039 - JAMB TO STEM WALL CONNECTION DETAIL

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE
/ TOP OF STEM WALL
SECTION "A"
CLIP MK. JCA24
(ATTACHMENT TO
| WALL BY OTHERS)
[%L{:mﬁ /f? % .
|}L"?" &ij/’
CLEAR OPENING )|
-
My —n
i )
i i ® ¢
(@]
A i}
STEEL LINE | .

IIAII

JAMB TO STEM WALL CONNECTION
NOTE: USE (2) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400 ( C G OO 39 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0039.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0040 - JAMB TO FINISH FLOOR CONNECTION DETAIL

CLIP *
MK. HCJO1 AT 8"
MK. HCJO1 AT 9 172"

CLIP * AL MK. HCJ02 AT 12" (BOLTED
MK. JCA24 AT 8" VERT. TO JAMB)
(ATTACHMENT TO
SLAB BY OTHERS)
DOOR JAMB
\ <]
m
CLEAR

I
OPENING

. ~ GEAR ]
CLEAR
N OPENING =

8"AT 12" GIRT

EQ

(e} —4
o \

| w WALL SYSTEM BY OTHERS

i
w ]
3 (2)1/2" X 11/4" A307 BUTTON % DOOR JAMB
ol HEAD BOLT (H0510) NUT (H0400) WALL SYSTEM BY
= SECTIONB
5 OTHERS
ONLY REQUIRED AT WALL HEIGHTS OF GREATER THAN OR EQUAL TO 20"
USE (2) 1/2'X 1 1/4" A307 BUTTON HEAD BOLTS (H0510) AND NUTS (H0400)
SECTION A

FRICTIONCLIP *

MK. JCA24 (ATTACHMENT TO
SLAB BY OTHERS)
SECTION A —*
CLIP * s | =
MK. JCA24 g
(ATTACHMENT TO =
SLAB BY OTHERS) 2
S
= CLEAR
i = OPENING g
=
: /¢ 0 2|8 3
i' [=} w
v T -t
x|z <<
- BASE ANGLE OR a|B . =
BASE CHANNEL =5 _ STEEL
SECTION B =1® N N \—
CcLIP
ONLY REQUIRED AT WALL MK, HCJO1 AT 8"
HEIGHTS OF > 20" = MK. HCJO1 AT 9 172"
=z o MK, HCJ02 AT 12" (BOLTED
T VERT. TO JAMB)
(2) 172" X1 1/4" A307 =
BUTTON HEAD BOLT =
(H0510) NUT (H0400) . ALTERNATE SECTION B
ONLY REQUIRED AT WALL HEIGHTS OF GREATER THAN OR EQUAL TO 20"
USE (1) 1/2'X 1 1/4" A307 BUTTON HEAD BOLTS (H0510) AND NUTS (H0400)
T I O I TR
BoLWETR L A * ERECTOR NOTE:
T IR O, a4
* i SET ANCHORS IN CONCRETE, ATTACH CLIP TO JAMB PLACE CLIP OVER
ANCHORS, NO NUTS REQUIRED. IF STEEL IS ERECTED BEFORE THE
FINISHED FLR. IS POURED, USE THE ALTERNATE BASE DETAIL.

JAMB AT MASONRY WALL WITH BASE ANGLE OR BASE CHANNEL C G 0040
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 2x2
Issued By: CAH


dtls/cg0040.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0045 - HOT-ROLLED JAMB TO STEM WALL DETAIL

M~ )
. RIGHT HAND DETAIL SHOWN
TOP OF STEM WALL ’
| LEFT HAND OPPOSITE
SECTION "A" SHOP WELDED CLIP
(ATTACHMENT TO
WALL BY OTHERS)
HRJIAMB —— | M
o o
\&%
CLEAR OPENING i
<t
)\ o
\ %%
(@}
A |
STEEL LINE T I

IIAII

HOT-ROLLED JAMB TO STEM WALL
NOTE: USE (2) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400 ( CG 0045 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED CLIP TO HOT ROLLED JAMB AT STEM WALL = JCA24

Issued : 12.05.2019MR 2019.12) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CF


dtls/cg0045.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0046 - HOT-ROLLED JAMB BASE CONNECTION DETAIL

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE

_ CLIP
- MK. HCJO01 AT 8"
SECTION "A MK. HCJO1 AT 10"
. MK. HCJ02 AT 12"
11/4
s " o (ATTACHMENT TO

SLAB BY OTHERS)

1 -
/ 2

E

o
Y
L 4
I

CLEAR OPENING

4||/8ll

JAVB =g f(
(]

A m

STEEL LINE T ..

llAll

&)
L 4
I

HOT-ROLLED JAMB BASE CONNECTION
NOTE: USE (2) 1/2"x 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS ( CG0046 )

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: WHH


dtls/cg0046.dwg

NUCORN

BUILDINGS GROUP

BOLTED FRAMED OPENING DETAILS

WALL SECONDARY

CG0048 - JAMB TO FINISHED FLOOR CONNECTION DETAIL

HOT-ROLLED DOOR JAMB JAMB TO GIRT CLIP
MK. JCA24
CLEAR

5 “OPENING =
(e}

“ \ ‘

@l WALL SYSTEMBELOW

e O (BY OTHERS)

w|3

(2) 12 X 11/4" A307 BUTTON
HEAD BOLT (H0510) NUT (H0400)
SECTION A
USE (2) 1/2'X 1 1/4" A307 THIN HEAD BOLTS (H0515) AND NUTS (H0400)
SECTION A CLIP *
MK. JCA24
HOT-ROLLED DOOR JAMB (ATTACHMENT TO SLAB BY
T OTHERS)
CLEAR OPENING
BASE ANGLE OR
BASE CHANNEL

CLIP MK. JCA24
CLIP TO JAMB-FIELD WELD OR FIELD
DRILLED 9/16"@ wi(2) 1/2"x1 1/4" BUTTON

—

HEAD BOLTS H0510/NUTS H0400

SECTION B

ONLY REQUIRED AT WALL
HEIGHTS OF > 20"

SHOP-WELDED BASE PLATE

WALL HEIGHT

JAMB TO FINISHED FLOOR CONNECTION

JAMB AT MASONRY WALL - CEE GIRT ABOVE WALL

Detailer Notes:

114
o ——
g
CLEAR
= OPENING <
w WALL SYSTEM BY OTHERS
o DOOR JAMB WITH
o SHOP-WELDED BASE PLATE
w
SECTION B

ONLY REQUIRED AT WALL HEIGHTS OF GREATER THAN OR EQUAL TO 2-0"

* ERECTORNOTE:

SET ANCHORS IN CONCRETE, PLACE CLIP OVER ANCHORS, NO NUTS REQUIRED.

CG0048

1) SHOP WELDED BASE PLATE TO HOT-ROLLED JAMB: 8" = HJBO08, 12" = HJB12

Revised : 03.15.21 (MR2021.03)
RevisedBy : SDF

CERTIFIED ERECTION DETAILS Detail Size (W xH): 2x2


dtls/cg0048.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0050 - HEADER/SILL TO JAMB CONNECTION DETAIL

CLIP MK. HCJ
N T -

(2) 112" x 1 1/4" A307
BOLTS (H0500) & NUTS (H0400)

/7 HEADER/SILL

llAll

HEADER SHOWN, SILL OPPOSITE

T_“L LEFT HAND DETAIL SHOWN.
RIGHT HAND OPPOSITE
| (2) 112" x 1 1/4" A307

BUTTON HEAD BOLTS (H0510)
& NUTS (H0400)

CLIP
MK. HCJO1 AT 8" OR 9 1/2"

JAMB MK. HCJ02 AT 12"

HEADER/SILL
STEEL LINE (/7

SECTION "A"

HEADER/SILL TO JAMB CONNECTION

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS ( CG0050 )

Detailer Notes:

1) See CG0051 for Std. Window/Louver/Walkdoor detail
2) See CG0056 for Drum Cover detail

Issued : 05.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


dtls/cg0050.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0051 - HEADER/SILL TO JAMB CONNECTION DETAIL

HEADER SHOWN, SILL OPPOSITE

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE
\_/_\i_
| TYP. CLIP
| MK. JCBO2 AT 8" OR 9 1/2"
| MK. JCBO3 AT 12"
|
|
|
| (2) H1020 FASTENERS
| (2) H1070 FASTENERS IF HOTROLLED JAMB
|
| HEADER/SILL
| /-
|
|
H
| T
: ]
S -
|
|
| | 22
I ==
| <C| W
| \ JAMB £ S
|
|
| &__FRAMED
| | OPENING
/\’L

HEADER/SILL TO JAMB CONNECTION

HEADER TO JAMB CONNECTION AT STD WINDOW/LOUVER/WALKDOOR
NOTE: USE (2) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400 ( CG OO 5 1 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) Max Header/Sill length 6'-0" unless approved by design.

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0051.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0056 - DRUM COVER/LINER SUPPORT TO JAMB DETAIL

NOTE THE DRUM/LINER SUPPORT CHANNEL HAS NOT BEEN DESIGNED TO SUPPORT THE
———— WEIGHT OF THE ROLL-UP DOOR. THIS CHANNEL HAS BEEN SUPPLIED FOR ATTACHMENT
OF THE DOOR DRUM COVER AND/OR LINER PANEL ONLY.

\/_‘r TYP. CLIP
MK. JCB02 AT 8" OR 9 1/2"
MK. JCBO3 AT 12"

(2) H1020 FASTENERS
(2) H1070 FASTENERS IF HOT-ROLL JAMB

/7 DRUM COVER/LINER SUPPORT CHANNEL

T

FIELD
LOCATE

FRAMED
OPENING

|
|
i
|
|
|
I
|
|
|
|
|

DRUM COVER/LINER SUPPORT TO JAMB DETAIL

SUPPORT CHANNEL TO JAMB CONNECTION AT ROLL-UP DOOR

NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS C G OO 56
Detailer Notes:

1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0056.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0057 - DRUM COVER/LINER SUPPORT TO JAMB EXT. DETAIL

NOTE THE DRUM/LINER SUPPORT CHANNEL HAS NOT BEEN DESIGNED TO SUPPORT THE
————WEIGHT OF THE ROLL-UP DOOR. THIS CHANNEL HAS BEEN SUPPLIED FOR
ATTACHMENT OF THE DOOR DRUM COVER AND/OR LINER PANEL ONLY.

CLIP MK. FOC94 8"/9 1/2" CEE

W CLIP MK. FOC95 12" CEE
i CLIP MK. FOC96 8"/9 1/2" "S"
| — (2) H1020 FASTENERS
: (2) H1070 FASTENERS IF HOT-ROLL JAMB
|
|
l /7 DRUM COVERJ/LINER SUPPORT CHANNEL
|
i
| gy
i —t—
! L ——
i E;J
|
| o|&
| wilo
: L 9
|
|
i \
[ JAMB EXTENSION
T~
LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

DRUM COVER/LINER SUPPORT TO JAMB EXT. DETAIL

SUPPORT CHANNEL TO JAMB CONNECTION AT ROLL-UP DOOR
NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CG OO 57 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CAH


dtls/cg0057.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0058 - JAMB EXTENSION TO ZEE GIRT DETAIL

JAMB EXTENSION, IF REQUIRED

CLIP MK. JCTO02

(3) H1020 FASTENERS

(3) H1020 FASTENERS

CLIP MK. JCT02

JAMB EXTENSION

JAMB EXTENSION TO ZEE GIRT

ZEE GIRT CONNECTION
NOTE: USE (4) 1/2" x1 1/4" A307 BOLTS H0500/NUTS H0400 ( C G O 0 5 8 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0058.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0059 - DOOR JAMB TO GIRT CONNECTION DETAIL

ERECTOR NOTE:
-PRE-DRILL HOLES AT NESTED ZEE GIRTS & DOUBLE CEE GIRTS IF REQUIRED.
-IF THE T-CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT BOLTS, THE
NESTED GIRT BOLTS CAN BE REMOVED.

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE

JAMB BELOW GIRT SHOWN
6) H1020 FASTENERS MIRROR IF JAMB IS ABOVE GIRT

ﬁé W (
w L)

. — CLIPMK. JCTO1

| —— DOOR JAMB
3“

JAMB TO ZEE GIRT w/INTERMEDIATE GIRT
ArEbGE Mot waoHER bt ok o whsrerceaurenans (_CG0059 )

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0059.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0060 - GIRT TO JAMB CONNECTION DETAIL

NOTE:
INSTALL CLIPS ON JAMB BEFORE STANDING JAMB.
USE LEVEL TO ALIGN GIRTS ADJUST CLIP AS REQUIRED.

CLIP MK. FOC94 8"/ 9 1/2" CEE - (FLANGE WIDTH =2.5"/3.0")
CLIP MK. FOC95 12" "S" - (FLANGE WIDTH = 3.63")
CLIP MK. FOC96 8" /9 1/2""S" - (FLANGE WIDTH =3.78"/ 3.63")

VARIES 3/4"

FLANGE WIDTH +

\ /—GIRT

JAMB

-+ o =
EQ

)
Y
*

CLEAR OPENING

4'/8"

|
@D
Y
?

EQ

STEEL LINE

L 2
\_ (2) 172" X 1 1/4"

A307 BOLTS HO0500/NUTS H0400

RIGHT HAND DETAIL SHOWN, LEFT HAND OPPOSITE

COLD FORM SHOWN, HOT-ROLL SIMILAR

GIRT TO JAMB CONNECTION
NOTE: USE (2) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400 ( CG 0060 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Revised : 09.13.21 (MR2021.10) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
RevisedBy : BSS


dtls/cg0060.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0062 - JAMB TO HEADER WITH INTERMEDIATE GIRTS

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

CEE HEADER

(6) H1020 FASTENERS /
(6) H1070 FASTENERS

TN
—

o— B CLIP MK. JCT13

< H

DOOR JAMB
/

—— =

JAMB TO HEADER W/ INTERMEDIATE GIRTS
REFNGE STNCARD WhRER DAL PR TonoaL e recurevents (_CG0062 )

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0062.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0064 - JAMB WITH EXTENSION DETAIL

ERECTOR NOTE:
-IF THE T-CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT
BOLTS, THE NESTED GIRT BOLTS CAN BE REMOVED.

i CLIP
JAMB EXTENSION———| | MK. JCTO2
|
|
|
i (3) H1020 FASTENERS
_.
5
S = g,/—ZEE GIRT
—9—— [ ——————————————
=
-
_.
(6) H1020 FASTENERS
_\CLIP
FRAMED MK. JCTO1
OPENING
JAMB & EXTENSION TO ZEE GIRT CONNECTION
NOTE: USE (6) 1/2" X 1 1/4" A307 BOLTS H0500/NUTS H0400 C G O O 6 4
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
Issued  : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H) : 1 x 1

Issued By: CAH


dtls/cg0064.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0065 - JAMB WITH EXTENSION DETAIL

JAMB EXTENSION x
CLIP MK. FOC94 8" /9 1/2" CEE

(2) 1/2" X 1 1/4" A307 CLIP MK. FOC95 13" "S" .
BOLTS H0500/NUTS H0400 CLIP MK. FOC96 8" /9 1/2""S

11/4"

< <

CEEGIRT — |

H1020 FASTENERS /
H1070 FASTENERS IF HOT-ROLL

H1020 FASTENERS /
H1070 FASTENERS IF HOT-ROLL

S~ CLIP MK. JCT13

—_—— ==

3
3
6
6

P

FRAMED

OPENING

B2

JAMB WITH EXTENSION DETAIL
USE (4) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS HO510/NUTS H0400 ( CG0065 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Revised : 11.09.22 (MR2022.12) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
RevisedBy : BSS


dtls/cg0065.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0072 - JAMB EXTENSION TO CEE GIRT DETAIL

ﬁ JAMB EXTENSION, IF REQUIRED
CLIP MK. FOC94 8" /9 1/2" CEE
S CLIP MK. FOC95 12" "S"
] CLIP MK. FOC9% 8" /9 1/2""S"

e (3) H1020 FASTENERS /
(3) H1070 FASTENERS IF HOT-ROLL CEE

< / <
——R — ]

]j;;\ \CEE GIRT

i (3) H1020 FASTENERS /

”i (3) H1070 FASTENERS IF HOT-ROLL CEE
T~
U CLIP MK. JCT02
T JAMB/JAMB EXTENSION

JAMB EXTENSION TO CEE GIRT

CEE GIRT CONNECTION
NOTE: USE (4) 1/2" x1 1/4" A307 BOLTS H0500/NUTS H0400 ( CG 0072 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Revised : 11.09.22 (MR2022.12) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
RevisedBy : BSS


dtls/cg0072.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CGO0073 - SUPPORT FOR SPRING JAMB ATTACHMENT AT VERTICAL LIFT DOOR

EAVE OR TOP OF HEADROOM
JAMBS AND HARDWARE (QTY TORSION SPRING MOUNT
AS REQ'D) PROVIDED BY NBG DIMENSION NOT BY MBS
MATERIAL SUPPLIED PER CHI **LOCATE PER CHI DATA SHEET
CABLE DRUM SPECIFICATION ~ —— | DETAILA _/
|4 /- DEIALE | m=—== SPRING JAMB I nin|
i /- it
C ini} 1
i ApsREQD) __ (PRI (s [T
uu uyy
| — AUXILIARY SHAFT SPRING JAMBS LINER AUXILIARY SHAFT
ATTACHMENT SUPPORT 1
(IF REQD)
o @
= SECONDARY MEMBER =
E E
o 2
8 8
g ¥ g
DOOR HEADER

INFORMATION PROVIDED WITHIN THIS DETAIL WILL ALLOW ERECTOR TO INSTALL CHI OVERHEAD DOORS WITH MATERIALS PROVIDED FOR ATTACHMENT TO NBG SECONDARY MATERIAL.
JAMBS PROVIDED FOR CONNECTION AT TORSION MOUNTING LOCATION WILL BE LOCATED EQUIDISTANT FROM THE CENTER LINE OF THE OPENING. THIS WILL BE REQUIRED ONLY IF THE TWO JAMBS ARE REQUIRED PER CHI DOCUMENTATION.
JAMBS PROVIDED FOR AUXILARY SHAFT SUPPORT WILL BE LOCATED AT 10" FROM EDGE OF DOOR JAMB TO CENTER OF SPRING JAMB

HARDWARE ATTACHING TO NBG SECONDARY WILL BE SUPPLIED AND USED IN ACCORDANCE WITH THE DETAILS A AND B.

A

v DIMENSION NOT BY MBS
EAVE, RAKE, ZEE GRT
ORTOP OF
HEADROOM DET-1A )
SPRING JAMBS AND DOOR & (/1020 FASTENERS
'SPRING BRACKET INSTALLATION (3) H1020 FASTENERS ) (2) 112" x1 114" A307 HEAD
ATTORSION SPRING MOUNT.  —~{ INC cup i scTo2 SPRING JAMES AND DOOR SPRING BOLTS HOS00INUTS H0400
ey -
INSTALL FASTENERS OR BOLTS
INTO CHANNEL AT TORSION SPRING
LOCATIONS. /—SPR\NG JAMBS
FOR SINGLE OR DOUBLE SPRING
|| serivcamies JAMB ATTACHMENT
CLIP MK. JCT02
ZEE GIRT L~
\ (3) H1020 FASTENERS D-/ 0 CLP MK JCTO2
=
5 0 DOOR MANUFACTURER SUPPLIE
= = CLIPS FOR SPRING ATTACHMENT (3) H1020 FASTENERS
o <
DET-1A
HEADER 268 GRT -/)/1 1
DETA DETA
SPRING JAMBS MAY BE PROVIDED BASED WHAT IS NEEDED FROM DOOR MANUFACTURE. THIS WILL REQUIRE
COORINATION WITH DOOR INSTALLER ON LOCATION OF THESE JAMBS.
A ZEE GIRT

(3) H1020 FASTENERS

v
— CLIP MK. JCT02
HEADROOM (3) H1020 FASTENERS ) A’_

(2) 172" x 1 1/4" A30T HEAD

@112 x 1 1/4° A307 HEAD SPRING JAMB ATTACHMENT TO BOLTS HOS00INUTS H0400
SPRING JAMBS AND DOOR BOLTS HOSOUINUTS Ho400 DOOR SUPPORT BRACKET.
SPRING BRACKET INSTALLATION - INSTALL FASTENERS OR BOLTS
AT AUXILIARY SHAFT SUPPORT. —~ | o= cLIP MK.JCTO2 INTO CHANNEL AT AUXILIARY -~ SPRING JAMB
SUPPORT SHAFTLOCATIONS. —__ ||} O |
S DOORTRACK E ! CLIP MK, JCT02
e @ (NOT BY MBS) Al (2) 112" x1 114" A307 HEAD
(2)112"x 1 114" A30T HEAD 7 — BOLTS HOS00INUTS H0400
BOLTS HOS00NUTS H0400 ZEE GRT ]
~N |t sPRING JavBs
I CLIP MK, JCT02
| 1 (3)+1020 FASTENERS
L—

ZEE GIRT\ -

(3) H1020 FASTENERS )

DISTANCE
VARIES
T
AN

DET-1B

- ‘/ EDGE OF DOOR JAMB

DOOR TRACK DET-1B TO CL OF JAMB EXT (NOT BY MBS).
(NOT BY MBS) —

FRAMED
OPENING

HEADER

SUPPORT FOR SPRING JAMB ATTACHMENT

E REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER CG 00 73
REQUIREMENTS

Detailer Notes:
1) THIS DETAIL IS TO BE USED WITH CHI OVERHEAD DOOR ORDERS. IF YOU ARE UNSURE CONFIRM
INFORMATION.

Issued : 08.13.24 (2023.001) CERTIFIED ERECTION DETAILS Detail Size (W xH): 2x3
Issued By: BSS


dtls/cg0073.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0074 - SUPPORT FOR SPRING JAMB ATTACHMENT AT OVERHEAD DOOR

SECONDARY MEMBER
JAMBS AND HARDWARE (QTY AS TORSION SPRING MOUNT
/REQ'D) PROVIDED BY MBS MATERIAL /_ DIMENSION NOT BY MBS
CABLE SUPPLIED PER CHI SPECIFICATION ~ & **LOCATE PER CHI DATA SHEET
DRUM
DETAILB DETAIL A
I /_ l T SPRING JAVB _/r'l nim|
o e P 4 o 1 i Al
L 1! (ASREQD) A HAl__psrean) A e 1
b4 TETTTTTTTT T T [ 1 L4 uuy
| AUXILIARY SHAFT ¢ LINER AUXILIARY SHAFT
SUPPORT SPRING JAMB (QTY VARIES ATTACHMENT SUPPORT
. (SPRING JAMB) PER C.H.I. REQUIREMENT) (IFREQD) (SPRING JAMB)  — o
2
K DOOR HEADER 5
o I~
8 8
8 8

IMPORTANT NOTE:

INFORMATION PROVIDED WITHIN THIS DETAIL WILL ALLOW ERECTOR TO INSTALL CHI OVERHEAD DOORS WITH MATERIALS PROVIDED FOR ATTACHMENT TO NBG SECONDARY MATERIAL.

JAMBS PROVIDED FOR CONNECTION AT TORSION MOUNTING LOCATION WILL BE LOCATED EQUIDISTANT FROM THE CENTER LINE OF THE OPENING. THIS WILL BE REQUIRED ONLY IF THE TWO JAMBS ARE REQUIRED PER CHI DOCUMENTATION
JAMBS PROVIDED FOR AUXILARY SHAFT SUPPORT WILL BE LOCATED AT 10" FROM EDGE OF DOOR JAMB TO CENTER OF SPRING JAMB.

HARDWARE ATTACHING TO NBG SECONDARY WILL BE SUPPLIED AND USED IN ACCORDANCE WITH THE DETAILS A AND B

A

v
EAVE, RAKE,
ORTOP OF
SPRING JAMBS AND DOOR SPRIN DET-1A ZEEGRT
BRACKET INSTALLATION AT HEADROOM DET1A DIMENSION NOT BY MBS
TORSION SPRING MOUNT.
(3) H1020 FASTENERS SPRING JAMBS AND DOOR (8 H1020 FASTENERS
I™\— GLIP MK. JCT02 SPRING BRACKET INSTALLATION CLIP MK. JCT02
AT TORSION SPRING MOUNT. .
[N @)1 x 1 14 7 HeRD BOLTS INSTALL FASTENERS OR EOLTS ) [CRAR RS
HO500/NUTS Ho400 INTO CHANNEL OF TORSION
SPRING LOCATIONS.
FOR SINGLE OR DOUBLE |_— sprivG sames
SPRING JAMB ATTACHMENT —\ —
M —seriG suiss —— I
i 0 01
[ (i
(2) 112" x 1 114" A307 HEAD BOLTS . (I
/- HOS00/NUTS H0400 DOOR MANUFACTURER / i } } } (2) 112" x 1 1/4" A307 HEAD
CLIP MK, FOC94 8"/ 9 112" CEE SUPPLIED CLIPS FOR SPRING 0 | 0 | BOLTS HOSOOINUTS Ho400
g L _
(2) 172" x 1 1/4" A307 BUTTON HEA /- SH; m Eggg: ;2 s 951 s OPENING CLIP MK. FOC94 8" /9 112"
BOLTS HO510/NUTS H0400 /_ Ef
FIELD DRILL HOLES AT SPRING JAMB CLIP MK, FOC95 12°"S"
LOCATIONS HEADER CLIP MK. FOC96 8" /9 1/2°'S"
(2) 112" x 1 114" A307 BUTTON
EET HEAD BOLTS HOS10INUTS
° Ho400
HEADER_’Q FIELD DRILL HOLES AT

DETAIL A SPRING JAMB LOCATIONS
DETAIL-1A

SPRING JAMBS MAY BE PROVIDED BASED WHAT IS NEEDED FROM DOOR MANUFACTURE. THIS WILL REQUIRE
CCOORINATION WITH DOOR INSTALLER ON LOCATION OF THESE JAMBS.

A ZEE GRT.
EAVE RAKE w\ ywwmzo FASTENERS
ORTOPOF DET1B CLIP VK. JCT02
HEADROOM
(3)H1020 FASTENERS ) %_ @12 X1 14 AR0T HEAD
CLIP MK. JCT02 SPRING JAMB ATTACHVENT TO—] BOLTS HOSOONUTS HO400
SPRING JAMBS AND DOOR SPRING— B oL
BRACKET(NOT BUY MBS) L oy SPRING JANB
INSTALLATION AT AUXILIARY L AT ALY
SHAFT SUPPORT. CLIP MK FOC948" 9 1/2" CEE
CLIP MK FOC95 12°'S"
-1 69/ DOOR TRACK CLIP MK FOC96 8"/9 1/2""S"
(NOT BY MBS) 1Al
By A (2)112"x1 114" A307 HEAD
| sprivG suies HEADER BOLTS HOS00INUTS H0400
Lo 11 e (2)112"x 1 114" A307 BUTTON
T Here - HEAD BOLTS HOSTONUTS H0400
FIELD DRILL HOLES AT SPRING
I CLIP MK, FOC94 8° /9 112" CEE JAMB LOCATIONS
(2) 112" x 114" A307 BUTTON HEAI e o s
BOLTS HOS10/NUTS H0400 | | e oF poor save
FIELD DRILL HOLES AT SPRING JAMB T0 CL OF JAM EXT (NOT BY MBS)
LOCATIONS FRAVED
=4 V OPENING
H e DETAIL11B
kil -
HEADER: g & poorTRack  DET1B —_—
(NOT BY MBS)
v
DETAIL B SUPPORT FOR SPRING JAMB ATTACHMENT

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER

REQUIREMENTS CGOO74
Detailer Notes:

1) THIS DETAIL IS TO BE USED WITH CHI OVERHEAD DOOR ORDERS. IF YOU ARE UNSURE CONFIRM
INFORMATION.

Issued : 08.13.24 (2023.001) CERTIFIED ERECTION DETAILS Detail Size (W xH): 2x3
Issued By: BSS


dtls/cg0074.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0082 - JAMB TO EAVE STRUT WITH CHANNEL DETAIL

8" CHANNEL

FIELD NOTCH CHANNEL
AS REQUIRED.

EAVE STRUT \
e CLIP MK. FOC02

(8) H1020 FASTENERS

T-CLIP MK. JCE__
(9) H1020 FASTENERS

51/4"

DOOR JAMB /

JAMB TO EAVE STRUT WITH CHANNEL

NOTE: USE (4) 1/2"X 1 1/4" A307 BOLTS H0500/NUTS H0400 ( C G O O 8 2 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

lssued  : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H) : 1 x 1

Issued By: CAH


dtls/cg0082.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0085 - JAMB TO EAVE STRUT DETAIL

EAVE STRUT\

11/4"

T-CLIP MK. JCE__
(6) H1020 FASTENERS

51/4" 1"

JAMB TO EAVE STRUT
NOTE: USE (4) 1/2"X 1 1/4" A307 BOLTS H0500/NUTS H0400 ( C G O O 8 5 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0085.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0090 - JAMB EXT. TO EAVE STRUT DETAIL

EAVE STRUT \

T-CLIP MK. JCE__
i (6) H1020 FASTENERS
e .. BB
"o LIl —@ A |
! B
! ol
o ' ' | (P [
B i i S
Lo R Lo
I 4 |
| | |
DOOR JAMB EXTENSION —— i ! ! i
i i N
! ! L
i | N
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
! ! L
i i |
NOTE: USE (2) 1/2"X 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CGOOQO )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: CAH


dtls/cg0090.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0100 - JAMB TO LOW EAVE PURLIN DETAIL

CHANNEL

PURLIN

CLIP MK. FOCO2 WITH
(8) H1020 FASTENERS
(TYPICAL)

Y
A
A\

T-CLIP MK. JCL__ WITH
(6) H1020 FASTENERS

|
|
|
|
|
|
|
|
|
|
_________ - i \
|
i FRAMED OPENING JAMB
|
|
|
|
|

Y
@A
N\

JAMB TO LOW EAVE PURLIN
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS ( CG0100 )

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0100.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0105 - JAMB TO LOW EAVE PURLIN DETAIL

8",91/2", OR 12"
PURLIN

5
>~ — o —
i b i ; i i T-CLIP MK. JCL__
- T 7an /s WITH (6) H1020 FASTENERS
SIS R A A ©
[Te) - | | |
e | | | |
| | | |
o o Lo AN AN
| i Y W |
| | | |
| b e e — ) |
| | x 8" 91/2" OR 12"
| | FRAMED OPENING JAMB
| |
| |
| |
| |
| |
| |
__Il/\_.:_
NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400 ( C G O 1 O 5 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: CAH


dtls/cg0105.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0110 - JAMB EXTENSION TO LOW EAVE PURLIN DETAIL

8",91/2", OR 12"
PURLIN

T-CLIP MK. JCL__ WITH
(6) H1020 FASTENERS

T
|
|
|
|
|
|
|
|
|
|
|
|
|
b 4 |
i \
|
! 8", 91/2", OR 12"
|
|
|
|
|
|
|

FRAMED OPENING JAMB
__J/\_I_

JAMB EXTENSION TO LOW EAVE PURLIN

NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400 ( )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS CG O 1 1 O
Detailer Notes:

1) N/A
Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: CAH


dtls/cg0110.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0120 - JAMB TO PURLIN CONNECTION DETAIL

2" 4" 2" , 8"GIRTS
6" | 12" GIRTS
ERECTOR NOTE: 2 3/4" 4" 2 3/4] 91/2" GIRTS
AT FIELD LOCATED FRAMED OPENINGS, E
CREATE 9/16" x 1" SLOTS IN THE JAMB LOCATED
AS SHOWN IN THE DETAIL AT RIGHT. ES RN
_/\_.—

ENDWALL STEEL LINE

PURLIN EXTENDS AT RAKE
EXTENSIONS (SHOWN FOR

REFERENCE ONLY)
\ /— PURLIN

(4) H1020 SCREWS PER
( END

) CHANNEL (DEPTH MATCHES
/| JAMBDEPTH)

LTl

RAFTER

(TYPE VARIES) l

SECTION "A"

ENDWALL STEEL LINE

PURLIN SPAN =
CHANNEL LENGTH)

PURLIN (TYPICAL)

ROOF

STEEL LINE
ADDITIONAL CHANNEL (ONLY IF
NECESSARY)

S:’-JL CEE CHANNEL

= SEE ENDWALL ELEVATION FOR MK. NUMBERS
ADDITIONAL CHANNELS SHOWN FOR

CLIP MK. JCS CLARITY ONLY. CHANNELS ARE REQUIRED

ATTACH TO CHANNEL ONLY WHERE NECESSARY.

WITH (6) H1020 SCREWS ATTACH TO PURLINS WITH (4) H1020 SCREWS
AT EACH END.

JAMB

SEE ENDWALL
ELEVATIONS FOR_/
MARK NUMBERS

(2) 172" x 1 1/4" A307 BOLTS (H0500) &

| CLEAR NUTS (H0400) (HAND TIGHTEN & BURR
OPENING THREADS)
JAMB TO PURLIN CONNECTION

(BYPASS ENDWALL GIRTS) —
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS CGO 1 20

Detailer Notes:
1) N/A

Revised : 08.09.21 (MR2021.08) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x2
RevisedBy : BSS


dtls/cg0120.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP

WALL SECONDARY

CG0125 - JAMB TO JOIST CONNECTION DETAIL

CHANNEL
(SEE ENDWALL ELEVATIONS

JOIST FOR MARK NUMBERS)

(4) H1070 FASTENERS

NN

(2) 1/2" x 1 1/4" A307 BOLTS (H0500) &
NUTS (H0400) (HAND TIGHTEN & BURR
THREADS)

EACH END OF CHANNEL
CLIP MK. JCS__
ATTACH TO CHANNEL WITH
(6) H1020 FASTENERS
JAMB
(SEE ENDWALL
ELEVATIONS FOR -
MARK NUMBERS) —— | CLEAR
OPENING

@

JAMB TO JOIST CONNECTION

ABOVE FRAME CONNECTION
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

(CG0125)

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS
Issued By: CAH

Detail Size (W xH): 1x1


dtls/cg0125.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0130 - JAMB TO RAFTER CONNECTION DETAIL

RAFTER

—— 1

CLIP JCS__

8" & 12"

$
4 | FLUSH
RAFTERT 5 T INSET

|

|

|

i

|

|

|

|

(4) H1070 FASTENERS

TLOE A
<

A\

(2) 1/2"D x 1 1/4" A307

|
|
|
i
P
e ! BOLTS HO500/NUTS H0400
JAVB l (HAND TIGHTEN & BURR
i THREADS) @ 8II & 12“ 4II 2"
i @912 I 4" I I23/4"
\ﬁ' CLEAR OPENING b N
SECTION A-A
JAMB AT FLUSH OR INSET POST & BEAM ENDWALL ( CG O 1 30 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
lssued  : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H) : 1 x 1

Issued By: CAH


dtls/cg0130.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0205 - JAMB TO HIGH EAVE GIRT DETAIL

(6) H1020 FASTENERS
HIGH EAVE GIRT

JAMB TO GIRT CLIP
MK. JHGO1 AT 1:12
MK. JHG02 AT 2:12
MK. JHGO3 AT 3:12 —

MK. JHGO04 AT 4:12

DOOR JAMB

JAMB TO HIGH EAVE GIRT

NOTE: USE (4) 1/2"X 1 1/4" A307 BOLTS (MK. H0500) AND NUTS (MK. H0400) AT
JAMB TO CLIP CONNECTION. ( )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS. CG 02 05

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0205.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0240 - SW OR EW GIRT DETAIL

CLIP MK. FOC94 8"/9 1/2" CEE ¢ CoLUmMN
HOP WELDED CLIP
CLIP MK. FOC95 12" CEE | I\S/IKOGFIO2 ¢
CLIP MK. FOC96 8"/9 1/2" "S" '
R 1] [ LOR
OPNG. - Y ee °e o OPNG.
?} O O O O £

; DOOR

i O O O O -

z ) ) € / JAMB
) )

| | $
\—DOOR
JAMB
3" X 5" X 20' ANGLE MK. MARO1 (S.L.V.). FIELD CUT TO
LENGTH AND FASTEN WITH (2) H1020 FASTENERS AT
EACH END (PLACE ANGLE FROM JAMB TO FLANGE OF
COLUMN). (TYPICAL 4 LOCATIONS AS SHOWN).
COLD FORMED JAMB SHOWN
HOT-ROLL SIMILAR
FRAMED OPENINGS AT FLUSH GIRT CONDITION
NOTE: USE (4) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS HO510/NUTS H0400 ( C G O 2 40 >
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: CAH


dtls/cg0240.dwg

NUCOR

BUILDINGS GROUP

BOLTED FRAMED OPENING DETAILS

WALL SECONDARY

CG0241 - SW OR EW GIRT DETAIL

ERECTOR GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH MULTIPLE GIRT DEPTHS.
REFER TO THE STANDARD BOLT PLACEMENT DETAIL(S) FOR PROPER BOLT PLACEMENT.
LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE
COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR
CLIP MK. FOC94 8"/9 1/2" CEE
CLIP MK. FOC95 12" CEE
CLIP MK. FOC96 8"/9 1/2""S"
¢ COLUMN (2) 112" X 1 1/4" A307
SHOP WELDED CLIP | f BOLTS HO0500/NUTS H0400
GIRT—\
_________________________ \ ®
(@}
CLEAR [ ° o °° é L
T - Dy o
OPENING O O
.
DOOR | 5E -
samg —_JIC A o S .
© o 8
¥ ) I e N P i —
3" X 5" X 20' ANGLE MK. MARO1 (S.L.V.). ) ) =
FIELD CUT TO LENGTH AND FASTEN WITH .« 212 3/4 = |
(2) H1020 FASTENERS AT EACH END S|
(PLACE ANGLE FROM JAMB TO FLANGE OF GIRT ANGLE MK. MAGO1
COLUMN). (TYPICAL 2 LOCATIONS AS SHOWN). FASTEN W/(2) H1020
(PLACE ANGLE FROM GIRT
TO FLANGE OF COLUMN)

FLUSH GIRT @ FRAMED OPENING (LEFT OF COLUMN)
NOTE: USE (2) 1/2"X 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED FLUSH/INSET GIRT CLIP TO COLUMN WEB = GFI102

(CG0241)

Issued : 08.16.19 (2018.017)
Issued By: CAH

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1



dtls/cg0241.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0260 - SW OR EW GIRT DETAIL

¢ COLUMN

FRAMED OPENING JAMB

(TYPICAL)

SHOP WELDED CLIP

[ N ® O I
e o e o _“ﬁ -
O O O O

CLR
OPNG

. o O O O O o o —-mE—

o o | STEEL

LINE

3" X'5" X 20' ANGLE MK. MARO1 (S.L.V.)

CLIP MK. FOC94 89 1/2" CEE FIELD CUT TO LENGTH AND FASTEN

CLIP MK. FOC95 12" CEE WITH (2) H1020 FASTENERS AT EACH

CLIP MK. FOC96 8"/9 1/2""S" END (PLACE ANGLE FROM JAMB TO
FLANGE OF COLUMN). (TYPICAL 4
LOCATIONS AS SHOWN),

GIRT ANGLE MK. MAGO2 WITH
(2) H1020 FASTENERS

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SW OR EW GIRT DETAIL

FRAMED OPENINGS AT INSET GIRT CONDITION
USE (4) 1/2" x 1 1/4" A307 BUTTON HEAD BOLTS HO0510/NUTS H0400 ( C G O 260 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED FLUSH/INSET GIRT CLIP TO COLUMN WEB = GFI102

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0260.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0261 - SW OR EW GIRT DETAIL

GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH MULTIPLE GIRT DEPTHS.
ERECTOR REFER TO THE STANDARD BOLT PLACEMENT DETAIL(S) FOR PROPER BOLT PLACEMENT.

NOTE

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE
COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

CLIP MK. FOC94 8'/9 1/2" CEE

CLIP MK. FOC95 12" CEE COLUMN @
SHOP WELDED CLIP OLTS HO500/NUTS H0400
_________________________ GIRT
CLEAR o
PN ® ol g
OPENING ) o e o
o O O >
DOOR |
JAMB—"| | y 8
o O O O O |
e o @ .-
I_?__?J O
% | _____________________ [ o] S - |.u'
6 1/2“ J 3/4"
¢

3" X 5" X 20' ANGLE MK. MARO1 (S.L.V.).

FIELD CUT TO LENGTH AND FASTEN WITH

(2) H1020 FASTENERS AT EACH END (PLACE
ANGLE FROM JAMB TO FLANGE OF COLUMN).
(TYPICAL 2 LOCATIONS AS SHOWN).

GIRT ANGLE MK. MAG02 W/(2) H1020

SW OR EW GIRT DETAIL
INSET GIRT @ FRAMED OPENING (LEFT OF COLUMN)

NOTE: USE (2) 1/2"X 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400 ( CG O 26 1 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED FLUSH/INSET GIRT CLIP TO COLUMN WEB = GFI102

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0261.dwg

NUCQOR

BUILDINGS GROUP

BOLTED FRAMED OPENING DETAILS

WALL SECONDARY

CG0281 - SW OR EW GIRT DETAIL

G COLUMN
|

CLIP MK. FOC94 8"/9 1/2" CEE
CLIP MK. FOC95 12" CEE
CLIP MK. FOC96 8"/9 1/2" "S"

/ SHOP WELDED CLIP

e © o o
. ® 0 () () ® o _i .

CLEAR CLEAR
OPENING OPENING
- e o ) ) o o — i —

e o o o

£ [ |

3" X'5" X 20' ANGLE MK. MARO1 (S.L.V.).
FIELD CUT TO LENGTH AND FASTEN
WITH (8) H1020 FASTENERS.

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SW OR EW GIRT DETAIL

FRAMED OPENINGS @ BYPASS GIRT CONDITION
NOTE: USE (4) 1/2" X 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

((CG0281)

1) SHOP WELDED BYPASS GIRT CLIP AT COLUMN: 8" GIRT = PCUO01, 9 1/2" GIRT = GCB62, 12" GIRT = GCB12

Issued : 08.16.19 (2018.017)
Issued By: CAH

CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1


dtls/cg0281.dwg

NUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0285 - SW OR EW GIRT DETAIL

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

CLIP MK. FOC94 8"/9 1/2" CEE
CLIP MK. FOC95 12" CEE
CLIP MK. FOC9% 8'/9 1/2" "S"

. ® © ® O
CLEAR CLEAR
OPENING OPENING
@ ©0 ®@ ©
¥ | oo |
N JAMB JAMBJ
3" X 5" X 20' ANGLE MK. MARO1 (S.L.V.). FIELD CUT TO
LENGTH AND FASTEN WITH (2) H1020 FASTENERS AT
EACH END. (TYPICAL 2 LOCATIONS AS SHOWN).
FRAMED OPENINGS @ BYPASS GIRT CONDITION
NOTE: USE (4) 1/2" X 1 1/4" A307 BUTTON HEAD BOLTS H0510/NUTS H0400 ( CG 02 8 5 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
lssued  : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H) : 1 x 1

Issued By: CAH


dtls/cg0285.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0291 - SW OR EW GIRT DETAIL

G COLUMN
|
(2) 1/2" X 1 1/4" A307 BUTTON HEAD
BOLTS H0510/NUTS H0400
SHOP WELDED CLIP
CLIP MK. FOC94 8"/9 1/2" CEE
CLIP MK. FOC95 12" CEE
CLIP MK. FOC96 8"'/9 1/2" "S" GIRT —\
[ 7
\ | | | e
! | j | |
0] oo
CLEAR | o 5
OPENING | 0 o
- 19| o6l
| S e}
$ | T "
1 1
1/2" 3/4" 1125 1 112"
I L]
o
JAMB
LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE
COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR
FRAMED OPENING (ONE SIDE OF COLUMN) @ BYPASS GIRT CONDITION
NOTE: USE (6) 1/2" X 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CG 029 1 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED BYPASS GIRT CLIP AT COLUMN: 8" GIRT = PCUO01, 9 1/2" GIRT = GCB62, 12" GIRT = GCB12

Issued : 04.07.20 (MR2020.04) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: SDF


dtls/cg0291.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0306 - SW OR EW GIRT DETAIL

¢ COLUMN
|

(2) 1/2" X1 1/4" A307 BUTTON HEAD
BOLTS HO510/NUTS H0400

SHOP WELDED CLIP

CLIP MK. FOC94 8"/9 1/2" CEE
CLIP MK. FOC95 12" CEE
GIRT —\ CLIP MK. FOC96 8"/9 1/2" "S"

@ \ | |

i
o1 6T

CLEAR
OPENING

CLEAR
OPENING

EQ

$ | | $
|
1/2" 3/4" 11/2" 11/2" 3/4" —1/2"
s L jul
o
JAMB JAMB
COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR
SW OR EW GIRT DETAIL
FRAMED OPENING (BOTH SIDES OF COLUMN) @ BYPASS GIRT CONDITION
NOTE: USE (8) 1/2" X 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CG 0306 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) SHOP WELDED BYPASS GIRT CLIP AT COLUMN: 8" GIRT = PCUO01, 9 1/2" GIRT = GCB62, 12" GIRT = GCB12

Revised : 03.18.20 (MR2020.04) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Revised By: SDF


dtls/cg0306.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0380 - GIRT TO EXISTING DETAIL

S S S S
EXIST BLDG NEW CONSTRUCTION

Y ERECTOR NOTE:
SEC. JAMB ATTACHMENT TO EXIST. BLDG. NOT BY M.B.S.

GIRT MAX. ATTACHMENT SPACING IS (2) FASTENERS AT 5-0".
BOLTS FOR STD. CLIP AND GIRT ATTACHMENT WILL BE
v SUPPLIED BY M.B.S.
FIN FLOOR
CLIP MK. FOC94 8"/9 1/2" CEE
EXISTING ‘NEW CONSTRUCTION CLIP MK. FOC95 12" CEE
i CLIP MK. FOC9%6 8"/9 1/2" "S"
BUILDING | JAMB
/ OPTIONAL GIRT
/ V316" /
/N7
|
2
—
—
m
&
GIRT TO EXISTING BUILDING

(4) 172" x 1 1/4" A307 BOLTS HO500/NUTS H0400 ( CG 0380 )
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg0380.dwg

NUCOR

BUILDINGS GROUP

BOLTED FRAMED OPENING DETAILS

WALL SECONDARY

CG0391 - JAMB TO PURLIN TRANSITION MEMBER DETAIL

Detailer Notes:
1) N/A

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

, 11/4

2 Bl
(@) @D
CHC

PURLIN TRANSITION MEMBER MK. PTMO1

\ TRANSITION MEMBER NEEDS TO BE FIELD DRILLED 9/16"@
HOLES TO ACCEPT (2) 1/2" DIAMETER A307 BOLTS AND NUTS

@
=
Ed
<] CLIP MK. JPL__ @ LEFT HAND/JPR__ @ RIGHT HAND
§ ATTACH THE CLIP TO THE JAMB BEFORE STANDING THE JAMB.
e~ —

o NEW JAMB. SEE STRUCTURAL

w g ELEVATIONS FOR PART NUMBER(S).

w|3

EXISTING BUILDING NEW BUILDING
11/2"

PURLIN TRANSITION

MEMBER MK. PTMO01

EXISTING PURLIN
(OR EAVE STRUT)

CLIP MK. JPL__ @ LEFT HAND/
JPR__ @ RIGHT HAND

WITH (6) 1/2" x 1 1/4" A307 BOLTS
(MK. HO500) AND NUTS (MK. H0400)

/NEW EAVE STRUT

NEW JAMB

USE (2) WASHERS (MK. H0200)
PER BOLT AT CLIP TO JAMB
CONNECTION

SECTION "A"

REFER TO DETAIL / FOR 'PURLIN' TO 'PURLIN TRANSITION
MEMBER' CLIP MARK NUMBERS AND BOLT REQUIREMENTS.

JAMB TO PURLIN TRANSITION MEMBER DETAIL

CG0391

Issued
Issued By: CAH

: 08.16.19 (2018.017)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x2


dtls/cg0391.dwg

NUCQOR

BUILDINGS GROUP

BOLTED FRAMED OPENING DETAILS

WALL SECONDARY

CG0395 - JAMB TO EAVE STRUT DETAIL

—l— LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

EAVE STRUT NEEDS TO BE FIELD DRILLED 9/16"@ HOLES
TO ACCEPT (2) 1/2" DIAMETER A307 BOLTS AND NUTS

L 114"

/— CLIP MK. JPL__ @ LEFT HAND/JPR__ @ RIGHT HAND
ATTACH THE CLIP TO THE JAMB BEFORE STANDING THE JAMB.

A
® ©
©\©

TOP OF JAMB

\ NEW JAMB. SEE STRUCTURAL

- ELEVATIONS FOR PART NUMBER(S).

%

STEEL
LINE

EXISTING BUILDING ; NEW BUILDING

112" 3"

EXISTING PURLIN NEW EAVE STRUT
(OR EAVE STRUT) _\ /

NEW JAMB

USE (2) WASHERS (MK. H0200) PER
BOLT AT CLIP TO JAMB CONNECTION

CLIP MK. JPL__ @ LEFT HAND /
JPR__ @ RIGHT HAND WITH

(6) 172" x 1 1/4" A307 BOLTS

(MK. HO500) AND NUTS (MK. H0400)

SECTION "A"
JAMB TO EAVE STRUT
CG0395
Detailer Notes:
1) N/A
Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x2

Issued By: CAH


dtls/cg0395.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1017 - TYPICAL JAMB/JAMB EXT. DETAIL (WELDED)

> %ZEE GIRT

(3) H1020 FASTENERS

SHOP WELDED JAMB CLIP

¥ JAMB/JAMB EXT.

OPENING

TYPICAL JAMB/JAMB EXT. DETAIL (WELDED)
JAMB TO ZEE GIRT WITHOUT INTERMEDIATE GIRT ( CG1017 )

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB / JAMB EXTENSION = JCT02

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1017.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

(CG1019 - TYPICAL JAMB DETAIL (WELDED))

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE
_______________________ Tg
]
I 't\
|
| CEE GIRT
|
|
! —— (3) H1020 FASTENERS
| \ (3) H1070 FASTENERS IF HOT-ROLL
I
i \
|
| SHOP WELDED JAMB CLIP
j/\\MK. JCT13
OPENING
JAMBIJAMB EXT.

TYPICAL JAMB/JAMB EXT. DETAIL (WELDED)
COLD-FORMED JAMB AT CEE GIRT WITHOUT INTERMEDIATE GIRT ( CG1019 )

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB / JAMB EXTENSION = JCT13

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1019.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1030 - JAMB TO FINISHED FLOOR CONNECTION DETAIL (WELDED)

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE
SECTION "A"
SHOP WELDED CLIP
1 (ATTACHMENT TO
T—o SLAB BY OTHERS)
| 8
/ .
L
A o
S/
CLEAR OPENING %
=
f/a\ _
JAMB x O .
(@]
A i}
STEEL LINE |
’,.._

IIAII

JAMB TO FINISHED FLOOR CONNECTION (WELDED)
(CG1030)

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB: AT 8" OR 9 1/2" = HCJ01, AT 12" = HCJ02

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CAH


dtls/cg1030.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1039 - JAMB TO STEM WALL CONNECTION DETAIL (WELDED)

™~ RIGHT HAND DETAIL SHOWN,
| TOP OF STEM WALL LEFT HAND OPPOSITE
|
* i
SECTION "A"
SHOP WELDED CLIP
(ATTACHMENT TO
WALL BY OTHERS)
O .
CLEAR OPENING )i
=
JAVB @) .
e
A o
STEEL LINE |
’._

JAMB TO STEM WALL CONNECTION (WELDED)

(CG1039)

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB AT MASONRY = JCA24

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1039.dwg

NUUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1046 - HOT-ROLLED JAMB BASE CONNECTION DETAIL

e \

CLEAR OPENING
SHOP WELDED _ - —e—
BASE PLATE j’<
\
=
STEEL LINE
S —_ —_— e ‘_

HOT-ROLLED JAMB BASE CONNECTION
12" @ EXPANSION BOLTS (BY OTHERS) ( CG1046 )

Detailer Notes:
1) SHOP WELDED CLIP TO HOT ROLLED CHANNEL: 8" = HJB08, 12" = HJB12

Revised : 09.10.20 (MR2020.09) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
RevisedBy : SDF


dtls/cg1046.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1050 - HEADER TO JAMB CONNECTION DETAIL (WELDED)

A SHOP WELDED CLIP

HEADER/

SILL —————

(2) 112" x 1 1/4" A307
BOLTS (H0500) & NUTS (H0400)

HEADER SHOWN,
SILL OPPOSITE

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

SHOP WELDED CLIP

JAMB

HEADER/SILL
STEEL LINE (/7

SECTION "A"

HEADERI/SILL TO JAMB CONNECTION (WELDED)
G LT whench bemms. o i whsrerceaurenans (_CG 1050 )

Detailer Notes:
1) SHOP WELDED CLIP TO HEADER/SILL: AT 8" OR 9 1/2" = HCJ01, AT 12" = HCJ02

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1050.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1051 - HEADER/SILL TO JAMB CONNECTION DETAIL (WELDED)

HEADER SHOWN,
SILL OPPOSITE
LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE
\/_\i_

|

i SHOP WELDED CLIP

|

|

|

|

|

i (2) H1020 FASTENERS

! (2) H1070 FASTENERS IF HOT-ROLL

|

|

i /7 HEADER/SILL

|

|

|

i

|

|

: ________________________________________ ——

|

|

! =

| ==

| <C| Wl

| \ JAMB £S

|

|

'] FRAMED

| OPENING

HEADER/SILL TO JAMB CONNECTION (WELDED)
HEADER TO JAMB CONNECTION AT WINDOW/LOUVER/WALKDOOR ( CG1051 )

Detailer Notes:

1) Max Header/Sill length 6'-0" unless approved by design.
2) SHOP WELDED CLIP TO HEADER/SILL: AT 8" OR 9 1/2" = JCB02, AT 12" = JCBO03

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1051.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1056 - DRUM COVER/LINER SUPPORT TO JAMB DETAIL (WELDED)

NOTE THE DRUM/LINER SUPPORT CHANNEL HAS NOT BEEN DESIGNED TO SUPPORT THE
WEIGHT OF THE ROLL-UP DOOR. THIS CHANNEL HAS BEEN SUPPLIED FOR
ATTACHMENT OF THE DOOR DRUM COVER AND/OR LINER PANEL ONLY.

\/—\i_
[
[
[
[
|
| SHOP WELDED CLIP
[
| (2) H1020 FASTENERS
| (2) H1070 FASTENERS IF HOT-ROLL JAMB
[
| / DRUM COVERILINER SUPPORT CHANNEL
[
[
[
[
|
i
I
[
[

FIELD
LOCATE

FRAMED
OPENING

|
|
|
|
|
|
|
|
|
|
|

N

DRUM COVERJ/LINER SUPPORT TO JAMB DETAIL (WELDED)
SUPPORT CHANNEL TO JAMB CONNECTION AT ROLL-UP DOOR
(CG1056)
Detailer Notes:

1) SHOP WELDED CLIP TO HEADER/SILL: AT 8" OR 9 1/2" = JCB02, AT 12" = JCBO03

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CAH


dtls/cg1056.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG0057 - DRUM COVER/LINER SUPPORT TO JAMB EXT. DETAIL (WELDED)

NOTE THE DRUM/LINER SUPPORT CHANNEL HAS NOT BEEN DESIGNED TO SUPPORT THE
————=WEIGHT OF THE ROLL-UP DOOR. THIS CHANNEL HAS BEEN SUPPLIED FOR
ATTACHMENT OF THE DOOR DRUM COVER AND/OR LINER PANEL ONLY.

——— SHOP WELDED CLIP
\I\/_\
I
|
i —— (2) H1020 FASTENERS
! (2) H1070 FASTENERS IF HOT-ROLL JAMB
|
| /7 DRUM COVER/LINER SUPPORT CHANNEL
i
|
|
|
|
] B E— o
! ——
I
|
: =
| JAMB EXTENSION o| S
— =3
|
|
|
|
|
A
LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

DRUM COVER/LINER SUPPORT TO JAMB EXT. DETAIL (WELDED)

SUPPORT CHANNEL TO JAMB CONNECTION AT ROLL-UP DOOR ( C G 1 O 5 7 )
Detailer Notes:

1) SHOP WELDED CLIP TO DRUM COVER/LINER SUPPORT: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95,
AT 8"OR 9 1/2""S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CAH


dtls/cg1057.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1058 - JAMB EXTENSION TO ZEE GIRT DETAIL (WELDED)

\/\ﬁ JAMB EXTENSION, IF REQUIRED

Nﬁ SHOP WELDED CLIP
(3) H1020 FASTENERS

/\_/r
|

|

|

|

|

|

|

|

|

i

1
-=#=d1
i

|

|

i

|
L~

11
T
I (3) H1020 FASTENERS
Il

I
TH
“i SHOP WELDED CLIP
|
| ¥
] JAMB EXTENSION

JAMB EXTENSION TO ZEE GIRT (WELDED)
ZEE GIRT CONNECTION ( CG1 0 5 8 )

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB EXTENSION = JCT02

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1058.dwg

NUUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1059 - DOOR JAMB TO GIRT CONNECTION DETAIL (WELDED)

ERECTOR NOTE:

-PRE-DRILL HOLES AT NESTED ZEE GIRTS & DOUBLE CEE GIRTS IF REQUIRED.
-IF THE T-CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT BOLTS, THE NESTED GIRT BOLTS
CAN BE REMOVED.

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE

(6) H1020 FASTENERS

= g RS
GRT— — = =
41/4"
SHOP WELDED CLIP ——— |
DOOR JAMB — |
FRAMED
OPENING
L —

DOOR JAMB TO GIRT CONN (WELDED)

(CG1059)

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB = JCTO1

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CAH


dtls/cg1059.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1060 - GIRT TO JAMB CONNECTION DETAIL (WELDED)

SHOP WELDED CLIP
12" 3/4"
JAMB ’
/— GIRT

L .
m

©
CLEAR OPENING %o
S

©
(/]
m

STEEL LINE |

RIGHT HAND DETAIL SHOWN, LEFT HAND OPPOSITE

GIRT TO JAMB CONNECTION (WELDED)
G STt whench b, o i whsrerceaurenans (_CG 1060 )

Detailer Notes:
1) SHOP WELDED CLIP TO DRUM COVER/LINER SUPPORT: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95,
AT 8"OR 9 1/2""S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1060.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1062 - DOOR JAMB TO HEADER CONNECTION DETAIL (WELDED)

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

COLD-FORMED HEADER

(6) H1020 FASTENERS /
(6) H1070 FASTENERS IF HOT-ROLL

N\,

SHOP WELDED CLIP
MK. JCT13

DOOR JAMB

//
/

DOOR JAMB TO HEADER CONN (WELDED)

(CG1062)

Detailer Notes:
1) SHOP WELDED CLIP TO DOOR JAMB = JCT13

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CAH


dtls/cg1062.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1064 - JAMB WITH EXTENSION DETAIL (WELDED)

ERECTOR NOTE:

-IF THE T-CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT BOLTS, THE
NESTED GIRT BOLTS CAN BE REMOVED.

i SHOP WELDED CLIP
|
JAMB EXTENSION —— !
|
|
i
|
i (3) H1020 FASTENERS
I
R !
=
5 = < ZEEGRT
—9——— [C———————————— —————1— ———————————
=S ) __H_K
.
_.

\(6) H1020 FASTENERS

\ SHOP WELDED CLIP

I———"TF

<

FRAMED
OPENING

_._

JAMB WITH EXTENSION DETAIL (WELDED)
JAMB & EXTENSION TO ZEE GIRT CONNECTION ( CG 1 0 6 4 )

Detailer Notes:
1) SHOP WELDED CLIP: AT JAMB = JCT01, AT JAMB EXTENSION = JCT02

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1064.dwg

NUUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1065 - JAMB WITH EXTENSION DETAIL (WELDED)

JAMB EXTENSION x

CEE GIRT
=

(6) H1020 FASTENERS

SHOP WELDED CLIP
/ (3) H1020 FASTENERS /
/(3) H1070 FASTENERS IF HOT-ROLL

Oll

/

SHOP WELDED CLIP

FRAMED

OPENING ﬁ /\/

JAMB

JAMB WITH EXTENSION DETAIL (WELDED)

(CG1065)

Detailer Notes:

1) SHOP WELDED CLIP AT JAMB = JCT13
2) SHOP WELDED CLIP AT JAMB EXTENSION: AT 8" OR 9 1/2" CEE = FOC94, AT "S" MEMBERS = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1065.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1082 - JAMB TO EAVE STRUT WITH CHANNEL DETAIL (WELDED)

8" CHANNEL

-
P
-
-
-
-

——
——
-

FIELD NOTCH CHANNEL
AS REQUIRED. r

-
——
-

-
-
-
-
P
P
-
-
-
-
-

EAVE STRUT \

11/4"

——
——
-

CLIP MK. FOC02
(8) H1020 FASTENERS

SHOP WELDED CLIP WITH
(9) H1020 FASTENERS

DOOR JAMB———_|

JAMB TO EAVE STRUT WITH CHANNEL (WELDED)
(CG1082)
Detailer Notes:

1) SHOP WELDED CLIP TO JAMB: AT 8" OR 12" JAMB = JCE01-04, AT 9 1/2" JAMB = JCE05-08

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: CAH


dtls/cg1082.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1073 - SUPPORT FOR SPRING JAMB ATTACHMENT AT VERTICAL LIFT DOOR (WELDED)

EAVE OR TOP OF HEADROOM
JAMBS AND HARDWARE (QTY TORSION SPRING MOUNT
AS REQDD) PROVIDED BY NBG DIMENSION NOT BY MBS
MATERIAL SUPPLIED PER CHI *LOCATE PER CHI DATA SHEET
CABLE DRUM SPECIFICATION — DETAILA _/
= /—DETAIL B ln | m=—== SPRING JAMB I nin|
____________ PNy - S
C {{H H TORSION SPRING |_|,:( /}55 TORSION SPRING T1 H‘&H .
] L __(hsREQD) __ _[PRCIM _(sREQD______ ad HitTH
iy sy
| — AUXILIARY SHAFT SPRING JAMBS LINER AUXILIARY SHAFT
ATTACHMENT SUPPORT
(IF REQD)
o o
2 'SECONDARY MEMBER 2
£ E
o 2
g &
g ¥ g
DOOR HEADER

INFORMATION PROVIDED WITHIN THIS DETAIL WILL ALLOW ERECTOR TO INSTALL CHI OVERHEAD DOORS WITH MATERIALS PROVIDED FOR ATTACHMENT TO NBG SECONDARY MATERIAL.
JAMBS PROVIDED FOR CONNECTION AT TORSION MOUNTING LOCATION WILL BE LOCATED EQUIDISTANT FROM THE CENTER LINE OF THE OPENING. THIS WILL BE REQUIRED ONLY IF THE TWO JAMBS ARE REQUIRED PER CHI DOCUMENTATION.
JAMBS PROVIDED FOR AUXILARY SHAFT SUPPORT WILL BE LOCATED AT 10" FROM EDGE OF DOOR JAMB TO CENTER OF SPRING JAMB

HARDWARE ATTACHING TO NBG SECONDARY WILL BE SUPPLIED AND USED IN ACCORDANCE WITH THE DETAILS A AND B.

A DIMENSION NOT BY MBS

EAVE, RAKE, 26E GRT
ORTOP OF
HEADROOM] DET-1A

&— (3) H1020 FASTENERS

| — SHOP WELDED CLIP

SPRING JAMBS AND DOOR
SPRING BRACKET INSTALLATION

ATTORSION SPRING MOUNT. - —~J SHOP WELDED CLIP SPRING JAMBS AND DOOR SPRING —\)

I~ (3) H1020 FASTENERS

BRACKET INSTALLATION AT
TORSION SPRING MOUNT.
INSTALL FASTENERS OR BOLTS

\

OPENING

SHOP WELDED CLIP
CLIPS FOR SPRING ATTACHMENT / (3) H1020 FASTENERS

INTO CHANNEL AT TORSION SPRING
LOGATIONS \7 N /—SPR\NG JAMBS
FOR SINGLE OR DOUBLE SPRING ~ N
|| serivcamies JAMB ATTACHVENT | 0 | | 0 |
SHOP WELDED CLIP f | | !
ZEE GIRT /| -
\ J/_ (3) H1020 FASTENERS 0 | 0 |
D-/ [I— = — |
DOOR MANUFACTURER SUPPLIE!

N

DET-1A —
HEADER ZEEGIRT —ﬂ 2 );
DET-1A

SPRING JAMBS MAY BE PROVIDED BASED WHAT IS NEEDED FROM DOOR MANUFACTURE. THIS WILL REQUIRE
COORINATION WITH DOOR INSTALLER ON LOCATION OF THESE JAMBS

A ZEE GIRT

v
(3) H1020 FASTENERS
HEADROOM)/— (3) H1020 FASTENERS

SPRING JAMB ATTACHMENT TO
SPRING JAMBS AND DOOR DOOR SUPPORT BRACKET.
SPRING BRACKET INSTALLATION " INSTALL FASTENERS OR BOLTS
AT AUXILIARY SHAFT SUPPORT. —J "= SHOP WELDED CLP INTO CHANNEL AT AUXILIARY -~ SPRING JAVB
\\ SUPPORT stAFTLOCATIONs. — [ i O |
;3 Vi DOOR TRACK "F } SHOP WELDED CLIP
RS @ (NOT BY MBS) LO g
- Y) \
|t sPRING JavBs ZEEGIRT
I- SHOP WELDED CLIP
ZEE GIRT (3) H1020 FASTENERS
\ | L (3) H1020 FASTENERS )

BN

q
‘DISTANCE ’
VARIES
2%

DET-1B

- ‘/ EDGE OF DOOR JAMB

DOOR TRACK DET-1B TO CL OF JAMB EXT (NOT BY MBS).
(NOT BY MBS) —

HEADER

FRAMED
OPENING

<

SUPPORT FOR SPRING JAMB ATTACHMENT

E REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER CG 1 0 73
REQUIREMENTS

Detailer Notes:
1) THIS DETAIL IS TO BE USED WITH CHI OVERHEAD DOOR ORDERS. IF YOU ARE UNSURE CONFIRM
INFORMATION.
2)SHOP WELDED CLIP TO JAMB / JAMB EXTENSION = JCT02

Issued : 08.13.24 (2023.001) CERTIFIED ERECTION DETAILS Detail Size (W xH): 2x3
Issued By: BSS


dtls/cg1073.dwg

NUUCOR BOLTED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1074 - SUPPORT FOR SPRING JAMB ATTACHMENT AT OVERHEAD DOOR (WELDED)

SECONDARY MEMBER
JAMBS AND HARDWARE (QTY AS TORSION SPRING MOUNT
/REQ'D) PROVIDED BY MBS MATERIAL /_ DIMENSION NOT BY MBS
CABLE SUPPLIED PER CHI SPECIFICATION ~ & “'LOCATE PER CHI DATA SHEET
DRUM DETAILB /—m _/
" /__ SPRING JAMB [y
m__ I [ et 10 ¥ 51k i I __1in
TORSTON SPRING [ -1}
e===jit (RS ===
____________ o
it L w | LJ i
| AUXILIARY SHAFT ¢ LINER AUXILIARY SHAFT
SUPPORT SPRING JAMB (QTY VARIES ATTACHNENT SUPPORT
® (SPRING JAMB) PER C.H.I. REQUIREMENT) (IFREQD) (SPRING JAMB)  — 2
2
£ DOOR HEADER 3
> 2
S 8
S 8

INFORMATION PROVIDED WITHIN THIS DETAIL WILL ALLOW ERECTOR TO INSTALL CHI OVERHEAD DOORS WITH MATERIALS PROVIDED FOR ATTACHMENT TO NBG SECONDARY MATERIAL.
JAMBS PROVIDED FOR CONNECTION AT TORSION MOUNTING LOCATION WILL BE LOCATED EQUIDISTANT FROM THE CENTER LINE OF THE OPENING. THIS WILL BE REQUIRED ONLY IF THE TWO JAMBS ARE REQUIRED PER CHI DOCUMENTATION
JAMBS PROVIDED FOR AUXILARY SHAFT SUPPORT WILL BE LOCATED AT 10" FROM EDGE OF DOOR JAMB TO CENTER OF SPRING JAMB.

HARDWARE ATTACHING TO NBG SECONDARY WILL BE SUPPLIED AND USED IN ACCORDANCE WITH THE DETAILS A AND B

A

v
EAVE, RAKE,
ORTOP OF
SPRING JAMBS AND DOOR SPRIN DET-1A ZEEGRT
BRACKET INSTALLATION AT HEADROOM] —e— DIMENSION NOT BY MBS
TORSION SPRING MOUNT.
L \\ (3) H1020 FASTENERS SPRING JAMBS AND DOOR (3) H1020 FASTENERS
SHOP WELDED CLIP SPRING BRACKET INSTALLATION ‘SHOP WELDED CLIP
AT TORSION SPRING MOUNT.
INSTALL FASTENERS OR BOLTS
INTO CHANNEL OF TORSION — —
SPRING LOCATIONS.
FOR SINGLE OR DOUBLE |_— SPRING JAMBS
SPRING JAMB ATTACHMENT —\ —1
SPRING JAMBS p—_— - —
H— — B
i 0 01
- -
- -
DOOR MANUFACTURER / - -
‘SHOP WELDED CLIP SUPPLIED CLIPS FOR SPRING | I ¢ ‘O I
= g
(2) 172" x 1 1/4" A307 BUTTON HEAh OPENING SHOP WELDED CLIP
BOLTS HO510/NUTS HO400
FIELD DRILL HOLES AT SPRING JAVB
LOCATIONS F ]\HEADER
a2 (2) 112" x1 114" A307 BUTTON
g = m HEAD BOLTS H0510/NUTS H0400
4 I HEADER FIELD DRILL HOLES AT SPRING
© JAMB LOCATIONS

DETAIL A
DETAIL-1A

SPRING JAMBS MAY BE PROVIDED BASED WHAT IS NEEDED FROM DOOR MANUFACTURE. THIS WILL REQUIRE
CCOORINATION WITH DOOR INSTALLER ON LOCATION OF THESE JAMBS.

A ZEE GIRT:
EAVE, RV, x\ y (3) H1020 FASTENERS
ORTéPOF ' ﬂ SHOP WELDED CLIP
HEADROOM (3) H1020 FASTENERS ) %_

|~ SHOP WELDED cLIP SPRING JAMB ATTACHMENT TO—1
DOOR SUPPORT BRACKET.
SPRING JAMBS AND DOOR SPRING=—= INSTALL FASTENERS OR BOLTS N

SPRING JAMB
BRACKET(NOT BUY MBS) = INTO CHANNEL AT AUXILIARY i 0
INSTALLATION AT AUXILIARY SUPPORT SHAFT LOCATIONS. |
SHAFT SUPPORT. N SHOP WELDED CLIP
(g

- o + @/ DOOR TRACK:
(NOT BY MBS) LA
P 2 \_A
SPRING JAMBS HEADER:

(2) 112" X1 1/4" A307 BUTTON
- HEAD BOLTS HOSTONUTS H0400
- FIELD DRILL HOLES AT SPRING
I SHOP WELDED CLIP JAMB LOCATIONS
(2)12'X 1 14 ASOT BUTTON HEAD—\
BOLTS HOS10/NUTS H0400 | | e oF poor save
FIELD DRILL HOLES AT SPRING JAMB T0 CL OF JAM EXT (NOT BY MBS)
LOCATIONS :] | FRAVED
= V OPENING
H e DETAIL-1B
= -
HEADER: g g poorTRack DET-1B —_—
(NOT BY MBS)

A

SUPPORT FOR SPRING JAMB ATTACHMENT

\J
w REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER
REQUIREMENTS CG1 074

Detailer Notes:
1) THIS DETAIL IS TO BE USED WITH CHI OVERHEAD DOOR ORDERS. IF YOU ARE UNSURE CONFIRM
INFORMATION.

2)SHOP WELDED CLIP TO JAMB / JAMB EXTENSION = JCT02
3)SHOP WELDED CLIP TO HEADER FIELD LOCATED HOLES: AT 12" "S" = FOC95, AT 8" OR 9 1/2" "S" = FOC96

Issued : 08.13.24 (2023.001) CERTIFIED ERECTION DETAILS Detail Size (W xH): 2x3
Issued By: BSS


dtls/cg1074.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1085 - JAMB/JAMB EXT. TO EAVE STRUT DETAIL (WELDED)

EAVE STRUT \

WELDED SHOP CLIP
11/4" (6) H1020 FASTENERS
: (6) H1070 FASTENERS IF HOT-ROLL

JAMB/JAMB EXT. —— |

JAMB/JAMB EXT. TO EAVE STRUT (WELDED)

((CG1085 )

1) SHOP WELDED CLIP TO JAMB: AT 8" OR 12" JAMB = JCE01-04, AT 9 1/2" JAMB = JCE05-08

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1085.dwg

NUCOR

BUILDINGS GROUP

BOLTED FRAMED OPENING DETAILS

WALL SECONDARY

CG1090 - JAMB TO HIGH EAVE STRUT DETAIL

812" 91/2"
ROOF SLOPE Y= yro
112 134" 2"
EAVE STRUT
T 2:12 2 34" 31/8"
T-CLIP MK. JCE__
(6) H1020 FASTENERS 312 312" 4
412 414" 5"
EAVE HT.
.—
"x“
e
| A A I
| O—D
|
i 3“
| @ Van) .
| QO
|
|
|
|
- T \/\\ DOOR JAMB
JAMB TO HIGH EAVE STRUT

NOTE: USE (4) 1/2"X 1 1/4" A307 BOLTS H0500/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

((CG1090 )

Issued : 08.16.19
Issued By: CAH

(2018.017)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


dtls/cg1090.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1100 - JAMB TO LOW EAVE PURLIN DETAIL (WELDED)

CHANNEL

PURLIN

CLIP MK. FOCO2 WITH
(8) H1020 FASTENERS
(TYPICAL)

SHOP WELDED CLIP WITH
(6) H1020 FASTENERS

I
|
|
|
|
|
|
|
|
|

3 |

_________ i \

| JAMBIJAMB EXT.
|
|
|
|
|

|
|
|
|
|
|
|
|
|
|
L

JAMB/JAMB EXT. TO LOW EAVE PURLIN (WELDED)
(CG1100)

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB/JAMB EXT. =JCL__

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1100.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1105 - JAMB/JAMB EXT. TO LOW EAVE PURLIN DETAIL (WELDED)

PURLIN
11/4" ﬁ SHOP WELDED CLIP WITH
- T T (6) H1020 FASTENERS
| 1 1 |
| | | |
| | | |
| | | |
| | [ |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| : : |
| |
| L — = - |
| |
| | [
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
m

JAMB/JAMB EXT. TO LOW EAVE PURLIN (WELDED)
(CG1105)

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB/JAMB EXT. =JCL__

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1105.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1205 - JAMB TO HIGH EAVE GIRT DETAIL (WELDED)

(6) H1020 FASTENERS
HIGH EAVE GIRT
Sy
o
<t
SHOP WELDED CLIP
-r—- T ! '
RN b
Ol | |
Lo .
Lo .
| | ! I
O | B
[ ! I
R S | [™~— JAMB/JAMB EXT.

JAMB/JAMB EXT. TO HIGH EAVE GIRT (WELDED)

(CG1205)

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB = JHG

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1205.dwg

NUUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1240 - SW OR EW GIRT DETAIL (WELDED)

¢ CoLUMN
Y SHOP WELDED CLIP | SHOP WELDED CLIP
SRV [ LCR_
OPNG. S ee °e Y OPNG.
O e e O
™ poor
_ O e O O _ AV
© @ @ ©
| | $
\—DOOR JAVB

3" X 5" X 20' ANGLE MK. MARO1 (S.L.V.). FIELD CUT TO
LENGTH AND FASTEN WITH (2) H1020 FASTENERS AT
EACH END (PLACE ANGLE FROM JAMB TO FLANGE
OF COLUMN). (TYPICAL 4 LOCATIONS AS SHOWN).

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SW OR EW GIRT DETAIL (WELDED)

FRAMED OPENINGS AT FLUSH GIRT CONDITION C C G 1 240 )

Detailer Notes:

1) SHOP WELDED CLIP TO COLUMN = GFI102
2) SHOP WELDED CLIP TO JAMB: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95, AT 8" OR 9 1/2" "S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1240.dwg

NUUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1241 - SW OR EW GIRT DETAIL (WELDED)

ERECTOR GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH MULTIPLE GIRT DEPTHS.
REFER TO THE STANDARD BOLT PLACEMENT DETAIL(S) FOR PROPER BOLT PLACEMENT.
LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE
SHOP WELDED CLIP
CoLUMN § SHOP WELDED CLIP
GIRT—\
_________________________ .
CLEAR °© o °° &
— © *—
OPENING O O O O
DOOR _~ ~
JAMB o) @) O @)
°.° ©
@ 0
% | _________________________ l_ _____ 1__====6=======®
=
3" X 5" X 20' ANGLE MK. MARO1 (S.L.V.). L B 34" =\,
FIELD CUT TO LENGTH AND FASTEN . a2
WITH (2) H1020 FASTENERS AT EACH T Ol

END (PLACE ANGLE FROM JAMB TO
FLANGE OF COLUMN). (TYPICAL 2
LOCATIONS AS SHOWN).

GIRT ANGLE MK. MAGO1
FASTEN W/(2) H1020
(PLACE ANGLE FROM GIRT
TO FLANGE OF COLUMN)

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SW OR EW GIRT DETAIL (WELDED)

FLUSH GIRT @ FRAMED OPENING (LEFT OF COLUMN)
NOTE: USE (2) 1/2"X 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CG 1 2 4 1 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) SHOP WELDED CLIP TO COLUMN = GFI102
2) SHOP WELDED CLIP TO JAMB: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95, AT 8" OR 9 1/2" "S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1241.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1260 - SW OR EW GIRT DETAIL (WELDED)

SHOP WELDED CLIP ¢ COLUMN
SHOP WELDED CLIP
o ©o [ I l
o [ J [ } [ ]
O O O O
CLR ¢ L CLR
OPNG OPNG
® ® O O Q O [ ] [ J
’
° 0 5 e 00 STEEL
- T LINE
3" X 5" X 20' ANGLE MK. MARO1 (S.L.V.) FIELD
FRAMED OPENING JAMB CUT TO LENGTH AND FASTEN WITH (2) H1020
(TYPICAL) FASTENERS AT EACH END (PLACE ANGLE
FROM JAMB TO FLANGE OF COLUMN).
(TYPICAL 4 LOCATIONS AS SHOWN).
GIRT ANGLE MK. MAGO?2
COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR WITH (2) H1020 FASTENERS

SW OR EW GIRT DETAIL (WELDED)

(CG1260)

Detailer Notes:
1) SHOP WELDED CLIP TO COLUMN = GFI02
2) SHOP WELDED CLIP TO JAMB: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95, AT 8" OR 9 1/2" "S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1260.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1261 - SW OR EW GIRT DETAIL (WELDED)

ERECTOR GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH
MULTIPLE GIRT DEPTHS. REFER TO THE STANDARD BOLT
NOTE PLACEMENT DETAIL(S) FOR PROPER BOLT PLACEMENT.

LEFT HAND DETAIL SHOWN, RIGHT HAND OPPOSITE
COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SHOP WELDED CLIP COLUMN ("?

SHOP WELDED CLIP

_________________________ GIRT

CLEAR _\
_— = r . — -
OPENING L
®@ o | 8
® O O O |& .

i
E < 8
O O O O '

EQ

3" X 5" X 20" ANGLE MK. MARO1 (S.L.V.).
FIELD CUT TO LENGTH AND FASTEN
WITH (2) H1020 FASTENERS AT EACH
END (PLACE ANGLE FROM JAMB TO
FLANGE OF COLUMN). (TYPICAL 2
LOCATIONS AS SHOWN).

6 1/2" 3/4"

GIRT ANGLE MK. MAG02
WI/(2) H1020

SW OR EW GIRT DETAIL (WELDED)

INSET GIRT @ FRAMED OPENING (LEFT OF COLUMN)
NOTE: USE (2) 1/2"X 1 1/4" A307 BOLTS HO500/NUTS H0400 ( C G 1 26 1 )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) SHOP WELDED CLIP TO COLUMN = GFI102
2) SHOP WELDED CLIP TO JAMB: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95, AT 8" OR 9 1/2" "S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1261.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1281 - SW OR EW GIRT DETAIL (WELDED)

G COLUMN
|

SHOP WELDED CLIP
SHOP WELDED CLIP
® ©0 ® ©0
® © () () ® ©
CLEAR CLEAR
OPENING OPENING
® © ) ) ® ©
®@ © ®@ ©0

; I e — |
L JAMB JAMB A

3" X'5" X 20' ANGLE MK. MARO1 (S.L.V.).
FIELD CUT TO LENGTH AND FASTEN
WITH (8) H1020 FASTENERS.

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SW OR EW GIRT DETAIL

(CG1281)

1) SHOP WELDED CLIP TO COLUMN: AT 8" GIRT = PCUO01, AT 9 1/2" GIRT = GCB62, AT 12" GIRT = GCB12
2) SHOP WELDED CLIP TO JAMB: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95, AT 8" OR 9 1/2" "S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1281.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1285 - SW OR EW GIRT DETAIL (WELDED)

SHOP WELDED CLIP
e o e o
CLEAR CLEAR
OPENING OPENING
@ o e o

b S |
L JAMB JAMB A

3" X'56" X 20' ANGLE MK. MARO1 (S.L.V.). FIELD CUT TO
LENGTH AND FASTEN WITH (2) H1020 FASTENERS AT
EACH END. (TYPICAL 2 LOCATIONS AS SHOWN).

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SW OR EW GIRT DETAIL (WELDED)

FRAMED OPENINGS @ BYPASS GIRT CONDITION C C G 1 285 >

Detailer Notes:
1) SHOP WELDED CLIP TO JAMB: AT 8" OR 9 1/2" CEE = FOC94, AT 12" CEE = FOC95, AT 8" OR 9 1/2" "S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1285.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1306 - SW OR EW GIRT DETAIL (WELDED)

€ COLUMN
|

SHOP WELDED CLIP
GIRT SHOP WELDED CLIP
oL
I NP mll
Te @i@_'—* O
CLEAR | i ] | CLEAR
OPENING | oo ~ | OPENING
lo|  lolel—+ of
! | H ! g !
$ | T 6w $
112" VARIES 1 1/2'" | 1'1/2" © VARIES 1/2"
} I BN J
JAMB LOEN JAMB

COLD FORMED JAMB SHOWN, HOT-ROLL SIMILAR

SW OR EW GIRT DETAIL (WELDED)

FRAMED OPENING (BOTH SIDES OF COLUMN) AT BYPASS GIRT CONDITION

NOTE: USE (8) 1/2" X 1 1/4" A307 BOLTS H0500/NUTS H0400 ( CG 1 306 )

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) COLUMN TO GIRT SHOP WELDED CLIP 8" = PCUO01, 9-1/2" = GCB62, 12' = GCB12
2) JAMB TO GIRT SHOP WELDED CLIP 8"/ 9-1/2" CEE = FOC94, 12" CEE = FOC95, 8"/ 12" "S" = FOC96

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1306.dwg

NUCOR WELDED FRAMED OPENING DETAILS

BUILDINGS GROUP WALL SECONDARY

CG1390 - JAMB OR JAMB EXTENSION TO HIGH EAVE STRUT (WELDED)

EAVE STRUT JAMB DEPTH
V ROOF | 8'/12" 912"
SLOPE ||X" = "X" =

1:12 13/4" 2"
2:12 2 3/4" 31/8"
SHOP WELDED T-CLIP WITH
(6) H1020 FASTENERS 3:12 312" 4"
4:12 41/4" 5"

IIXII

- \\\/\\ JAMB OR

JAMB EXTENSION

)
JAMB OR JAMB EXT. TO HIGH EAVE STRUT (WELDED)

(_CG1390 )

Detailer Notes:
1) 8" AND 12" JAMBS 1:12 = JCEO09, 2:12 = JCE10, 3:12 = JCE11, 4:12 = JCE12
2)9-1/2" JAMBS 1:12 = JCE13, 2:12 = JCE14, 3:12 = JCE15, 4:12 = JCE16

Issued : 08.16.19 (2018.017) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1
Issued By: CAH


dtls/cg1390.dwg

	TABLE OF CONTENTS
	FRAMED OPENING
	CG0016 - WALKDOOR FRAMED OPENING DETAIL
	CG0017 - TYPICAL JAMB_JAMB EXTENSION DETAIL
	CG0018 - JAMB TO ZEE GIRT WITH INTERMEDIATE GIRT
	CG0019 - TYPICAL JAMB DETAIL
	CG0025 - HEADER WRAP DETAIL
	CG0026 - SILL WRAP DETAIL
	CG0027 - COLUMN WRAP DETAIL
	CG0030 - JAMB TO FINISHED FLOOR CONNECTION DETAIL
	CG0039 - JAMB TO STEM WALL CONNECTION DETAIL
	CG0040 - JAMB TO FINISH FLOOR CONNECTION DETAIL
	CG0045 - HOT-ROLLED JAMB TO STEM WALL DETAIL
	CG0046 - HOT-ROLLED JAMB BASE CONNECTION DETAIL
	CG0048 - JAMB TO FINISHED FLOOR CONNECTION DETAIL
	CG0050 - HEADER_SILL TO JAMB CONNECTION DETAIL
	CG0051 - HEADER_SILL TO JAMB CONNECTION DETAIL
	CG0056 - DRUM COVER_LINER SUPPORT TO JAMB DETAIL
	CG0057 - DRUM COVER_LINER SUPPORT TO JAMB EXT. DETAIL
	CG0058 - JAMB EXTENSION TO ZEE GIRT DETAIL
	CG0059 - DOOR JAMB TO GIRT CONNECTION DETAIL
	CG0060 - GIRT TO JAMB CONNECTION DETAIL
	CG0062 - JAMB TO HEADER WITH INTERMEDIATE GIRTS
	CG0064 - JAMB WITH EXTENSION DETAIL
	CG0065 - JAMB WITH EXTENSION DETAIL
	CG0072 - JAMB EXTENSION TO CEE GIRT DETAIL
	CG0073 - JAMB SUPPORT FOR SPRING(Vertical Lift)
	CG0074 - JAMB SUPPORT FOR SPRING(Overhead)
	CG0082 - JAMB TO EAVE STRUT WITH CHANNEL DETAIL
	CG0085 - JAMB TO EAVE STRUT DETAIL
	CG0090 - JAMB EXT. TO EAVE STRUT DETAIL
	CG0100 - JAMB TO LOW EAVE PURLIN DETAIL
	CG0105 - JAMB TO LOW EAVE PURLIN DETAIL
	CG0110 - JAMB EXTENSION TO LOW EAVE PURLIN DETAIL
	CG0120 - JAMB TO PURLIN CONNECTION DETAIL
	CG0125 - JAMB TO JOIST CONNECTION DETAIL
	CG0130 - JAMB TO RAFTER CONNECTION DETAIL
	CG0205 - JAMB TO HIGH EAVE GIRT DETAIL
	CG0240 - SW OR EW GIRT DETAIL
	CG0241 - SW OR EW GIRT DETAIL
	CG0260 - SW OR EW GIRT DETAIL
	CG0261 - SW OR EW GIRT DETAIL
	CG0281 - SW OR EW GIRT DETAIL
	CG0285 - SW OR EW GIRT DETAIL
	CG0291 - SW OR EW GIRT DETAIL
	CG0306 - SW OR EW GIRT DETAIL
	CG0380 - GIRT TO EXISTING DETAIL
	CG0391 - JAMB TO PURLIN TRANSITION MEMBER DETAIL
	CG0395 - JAMB TO EAVE STRUT DETAIL

	FRAMED OPENING (WELDED)
	CG1017 - TYPICAL JAMB_JAMB EXT DETAIL (WELDED)
	CG1019 - TYPICAL JAMB DETAIL (WELDED)
	CG1030 - JAMB TO FINISHED FLOOR CONNECTION DETAIL (WELDED)
	CG1039 - JAMB TO STEM WALL CONNECTION DETAIL (WELDED)
	CG1046 - HOT-ROLLED JAMB BASE CONNECTION DETAIL
	CG1050 - HEADER TO JAMB CONNECTION DETAIL (WELDED)
	CG1051 - HEADER_SILL TO JAMB CONNECTION DETAIL (WELDED)
	CG1056 - DRUM COVER_LINER SUPPORT TO JAMB DETAIL (WELDED)
	CG1057 - DRUM COVER_LINER SUPPORT TO JAMB EXT. DETAIL (WELDED)
	CG1058 - JAMB EXTENSION TO ZEE GIRT DETAIL (WELDED)
	CG1059 - DOOR JAMB TO GIRT CONNECTION DETAIL (WELDED)
	CG1060 - GIRT TO JAMB CONNECTION DETAIL (WELDED)
	CG1062 - DOOR JAMB TO HEADER CONNECTION DETAIL (WELDED)
	CG1064 - JAMB WITH EXTENSION DETAIL (WELDED)
	CG1065 - JAMB WITH EXTENSION DETAIL (WELDED)
	CG1073 - JAMB SUPPORT FOR SPRING(Vertical Lift) (WELDED)
	CG1074 - JAMB SUPPORT FOR SPRING(Overhead) (WELDED)
	CG1082 - JAMB TO EAVE STRUT WITH CHANNEL DETAIL (WELDED)
	CG1085 - JAMB_JAMB EXT TO EAVE STRUT DETAIL (WELDED)
	CG1090 - JAMB TO HIGH EAVE STRUT DETAIL
	CG1100 - JAMB TO LOW EAVE PURLIN DETAIL (WELDED)
	CG1105 - JAMB_JAMB EXT TO LOW EAVE PURLIN DETAIL (WELDED)
	CG1205 - JAMB TO HIGH EAVE GIRT DETAIL (WELDED)
	CG1240 - SW OR EW GIRT DETAIL (WELDED)
	CG1241 - SW OR EW GIRT DETAIL (WELDED)
	CG1260 - SW OR EW GIRT DETAIL (WELDED)
	CG1261 - SW OR EW GIRT DETAIL (WELDED)
	CG1281 - SW OR EW GIRT DETAIL (WELDED)
	CG1285 - SW OR EW GIRT DETAIL (WELDED)
	CG1306 - SW OR EW GIRT DETAIL (WELDED)
	CG1390 - JAMB OR JAMB EXT TO HIGH EAVE STRUT (WELDED)


